8th WCCT - Entries Section D: Endgame studies

Theme

Inapositioninthe main line of awin or draw study where an unprotected white or black piece A isdirectly attacked, White
or Black instantaneoudly (right on the following move) places another piece B (of the same coulour as A) en-prise (again
unprotected and directly attacked). This thematic move resulting in the two white or the two black pieces A and B hanging,
must be a quiet one, i. e. not a check, nor a capture. A and B may be any piece except pawns.

Judges
Belarus, Finland, Georgia, |sragl, Romania

Reserve judge
Belgium
Notes by the Tourney Director

Sorted by (@) the position of white king, (b) the position of black king (if same position of white king), (c) random choice (if
same position of both kings).

7+10 Win

D/1
1.Le5! [2h8=D+/D x e4+] Lg7! [a)] 2.Td8! L x €5 [b)] 3.D x e4+ Kb8 [c)] 4.D x5+ Kb7 5.Tx €8 Tx €8 6.h8=D

a) 1.—Dc6 2.Td6 +; 1.— Df7 2.Dxed+ +
b) 2.—-Txd83.Dxed+ Td54.Dxd5+ Dc6 5.Dx c6#; 2.—Dxd8 3.D x ed+ Dd5 4.Dx d5+ Tc6 5.D x c6#; 2.— Sxd8 3.D x c8#
C) 3.—Dc6 4.Dx c6+ Kb8 5.T x c8#

D/2
1.Se2 Ta3+! [a)] 2.Kb1! [b)] g1=D+! [c)] 3.Sx g1 Te3 4.5e2! Kb4 5.Lf8+ Kc4 6.Lg2! [d)] Txe2 7.Lf1 Kd3 8.Lh6

a) 1—Te32.Lxg2; 1.—Tg32.L.d4 Tgd 3.Lgl Txed 4.5c3+; 1.—gl=D+ 2.Sxgl Te3 3.Lb1
b) 2.Kb2? Te3 3.Lx g2 Tx e2+; 3.5d4+ (3.S5c3+ Tx c3) Kb6! 4.L xg2 Tg3

C) 2—Te33.Lxg2Txe24.Lf1; 2—-Tg33.Ld4

d) 6.Lb7? Th3+

D/3

1.Dh1! [a)] Txf4 2.7 Te3 3.h8=D+ K xh8 4.Dx h2+ Th4 5.Dd2 [b)] Td4 [c)] 6.Le4 and:
6.—Tdxed 7.e8=D+ Tx e8 8.Dh2+ +

6.— Texed 7.0h2+ Th4 8.e8=D+ +

Two thematic moves combined with Plachuttainterference. Bristol key.

a) 1.5e2? T2 F
b) 5.Df2? Tf4 6.Dh2+ Th4 loss of time
) 5-Tf46.Lf3+

D/4
1.Tg5+ €5! [a)] 2.Txe5+ Kab [c)] 3.Tab+! K xab 4.L.c3+ Kxad 5.Lxd2 Sh3! 6.5b5! [d)] Sxgl [€)] 7.S5c3+ Kb4 8.5e2+
9.Sxgl +



a) 1—Kxad 2.Lc3[b)] Sd53.Lxd2 +; 1.—Kb6 2.Th5+ 3.Tbl +

b) 2.Tab+? Kab 3.Lc3+ Kb6! 4.L xd2 Sd5! 5.5c8+ Kc7 6.Sa7 Kb6 =

C) 2.—Ka4 3.5c6 with mate

d) 6.Sxh3?stadlemate. That isthereason for 1.— e5!; 6.5f3? Sgl! 7.5f~ Sf3 =
6) 6—Kxb57.Sxh3+

D/5

1.a7! [a)] Ta5+ [b)] 2.Kbl and now two main variations: 2—Tx a7 (A) and 2.—Te5 (B)

(A) First variation: 2— Txar [c)] 3.Sxb6+ Kb3! [d)] 4.Te8! (thr. 5.Te3#) [€)] Seb! [f)] 5. Txeb! Ter! 6.Sa4! (6.Txer?
stalemate; 6.5d7? Txd7 =) Tc7 [g)] 7.Tab (7.Sb6? Te7) Th7 8.Sc5+ Kc4 9.Tch! [h)] Kb5[i)] 10.Tc8 +

(B) Second variation: 2.— Te5! 3.Kc2! [j)] b3+ 4.Kd1! [k)] Sf3! 5.Sxb6+ Kb5 [1)] 6.Tg5! [m)] Kxb6 [n)] 7.Txe5 + e.g.
7—Kxa7 (7—Sxe5 8.a8=D) 8.Te3 Sd4 9.Td3 . . .

a) 1.Tc8+?Kd3! (1.—Kd4?2.Sc7 Tc5+? 3.a7 Tab+ 4.Kb3 T x a7 5.505+ +) 2.5¢7 Tcb! (2.— Tab+? 3.Kb3! SF34.Td8+ Kes
5.Td6 +) 3.Kb1 (3.a7 Ta5+ 4.Kb3 Tx a7 =; 3.Kb3 Seb! 4.a7 Sd4+! 5.Kad Tab+ =) Seb! (3— Tab? 4.Td8+ Ked 5.Td5!
Tx a6 6.TxQ5 £) 4.87 SxC7 5.TxC7 Tab! =; 1.5x b6+? Tx b6 =; 1.Kb1? Te5 (or 1.— Tf5) 2.5x b6+ Kb3 =

b) 1.— b3+ 2.Kbl Te5 3.Sx b6+ (3.Tc8+? Kb4 4.Sx b6 Sf3 5.Tc4+ Kb5 6.Tcl Kxb6 7.a8=D Sd2+ 8.Kal Tab+ 9.Dx a5
Kxab =) Kb4 4.505+! Txd55.Th8+ Kc4 6.Tc8+ Kb4 7.a8=D +

C) 2—Kb33.Te8! (3.Sxh6?Teb! 4.Kcl Tel+ 5.Kd2 Sf3+ 6.Kd3 Seb+ 7.Kd2 Sf3+ 8.Kd3 Seb+ 9.Kd4 Sc6+ 10.Kd5 Sx ar =)
Txar 4.Sx b6 entering the main variation

d) 3—Kb54.5c8! +; 3—Kd44.Txg5 +

) 4.Txg5?Tg7! 5.Tx g7 stalemate; 4.Td8? Sed! 5.Td3+ Sc3+ 6.bxc3 bxc3 =

f) 4.-Se4?5.Txed Te7 6.T xbd+! (or 6.5c41) K x b4 7.5d5+ +

) 6.— Tx €6 7.5c5+; 6.— Th7 7.5c5+ Kc4 8.Tc6! = (8.Te5?b3! 9.Kcl Kdd! =; 8.Se4? Thi+ 9.Kc2 b3+)
h) 9.Ta5?b3! =; 9.Se4? Thi+! 10.Kc2 b3+ 11.Kd2 Th2+ 12.Kcl Thi+ =

i) 9.—Thi+ 10.Ka2 b3+ 11.Sx b3+ + (11.Ka3? Tal+)

j) 3.Kcl?Tel+ 4.Kc2 b3+ 5.Kd2 Sf3#; 3.5x b6+?Kb3! 4.Kcl Tel+ 5.Kd2 SF3+ 6.Kd3 Seb+ 7.Kd2 Sf3+ 8.Kd3 Se5+ 9.Kd4
Sc6+ 10.Kd5 Sx a7 =; 3.Tc8+? Kb3! =; 3.Tf8? Kb3! 4.Tf1 Sed! =; 3.Txg5? Tx g5 4.Sx b6+ Kb3! =

k) 4.Kd2? Sf3+5.Kd1 Tel#; 4.Kcl?? Tel+ 5.Kd2 Sf3#

) 5—Kd36.Td8+! + (6.Tgl? Ta5! =)

m) 6.Tgl? Te8! 7.a8=D Tx a8 8.Sx a8 Sx gl =; 6.a8=D?? Tel#
n) 6.—Txg5 7.a8=D+; 6.— Sx g5 7.a8=D+

D/6
1.Sg4! Dg7! [a)] 2.5e4! [b)] Dxf7 [c)] 3.5g5! [d)] Df5! [€)] 4.5e5! Kg7! 5.Kal! [f)] c6! 6.Ka2! Dx g5 [g)] 7.h8=D! K xh8
8.5f7+ Kg7 9.Sx g5 +



a) 1.—Df8 2.5e5 Kxh7 3.5h5 Dc5 4.5f6+ Kg7 5.5d7 +; 1.— Dd6 2.Se4 Db4 3.Se5 Kh7 4.5d7 Dab+ 5.Kbl Del+ 6.Kc2
De2+ 7.5d2 +

b) 2.S65?fx g3 3.596+ K xh7 4.f8=D D xf8 5.5f8 Kg8 6.5¢6 d2 F; 2.5h5? D x {7 3.5hf6 a5 4.Kb1 Deb 5.Kal Kg7 6.Ka2
De2 7.5h6 Dh2 8.Sg4 Dhl F

) 2—Kxh7 3.565 Kh6 4.5f6! Kg5 5.5fd7 +
d) 3.Se5? Df5? 4.595 Kg7 5.Kal! +; 3— Dh7! 4.5g5 Df5 F
) 3.—Dg6! 4.5h6? Dxh6! 5.57+ K xh7 6.5x h6 K x h6 F; 3—Dgb 4.565! +

f) 5—Sef7?Dab+! 6.Kbl Del+ 7.Kc2 De2 8.Ka3 De3 9.Kc2=; 5.Ka3? Dbl! 6.b4 Dal+ 7.Kb3 Dd1+ 8.Kc3 Del+ 9.Kd4 c6
10.Kd3=; 5.04? Dc2! 6.Ka3 ¢5 7.bx c5 b5 8.Ka2 Dad 9.Kb1 Dd1=; 5.¢5? Dc8! 6.Sef7 Dag+ 7.Kb1 Dd3 8.Kcl Del+
9.Kc2 De2+ 10.Kc3 De3=

g) 6.—Kf67.n8=D K xh5 8.Dg7 +

D/7

1.cAl (2.5c6#) dxc4 2.dxcd Dxcd 3.5c6+ Kxb5 4.Le2! Dxe2 5.5d4+ Kxc5 6.5xe2 Ked 7.5c1 Ke3 8.Sxb3 Lxb3
stalemate

4—-Kxch5.Lxcd Kxcd 5.535! K3 6.Sxb3 L x b3 stalemate

4—-Kxc65.Lxc4Kxch6.Lxhb3=

D/8

1.Th8+ Kg5 2.f8=D [a)] Txf8 3.Txf8 h2 4.Te5+ Kg4 5.Ted+ Kg5 [b)] 6.Te5+ Kg6 7.Txe6+ Kg7 8.Th6 K xh6 9.Tx 2
h1=D 10.Th2+ D x h2 stalemate

8—-Kxf89.Txh2f1=D 10.Tf2+ Dxf2 stalemate

a) 2.Tg8+?Kf53.f8=D Txf84.Txf8+ Kxed F
b) 5—Kg36.Txeb (6.Te3+ Kg2 F) ¢4 (6.—Kg2 7.Tg6+ =) 7.Tg6+ Kh4 8.Tgf6 h1=D 9.Th6+ =
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D/9
1.7 Txh7 [a)] 2.5xh7+ [b)] Kg7 3.5g5! [¢)] b2! [€)] 4.L x &2 Sc3 5.Se4! Sx a2 6.5d2 Sc3 7.Kbd =

a) 1-Kg72.5g6 =

b) 2.Lxh7?b23.Lxe4 Ld54.Lbl (or 4.Sd7+ Kg7 F) a35.5f2 a2 6.L xa2 L xa2 F
€) 3.5f6?Sc34.5d5 [d)] Sd1 5.5b6 K< g8 6.Sx a4 b2 7.Sx b2 Sx b2

d) 4.Kb4b25.Lh7 Sd1 F

6) 3—Sc34.Kb4 K xg8(4.—b25.Lh7 =) 5Kxc3a36.5e4 b2 7.5d2 =

D/10

1.g7 Dg2 [a)] 2.Tf6! [b)] Dxg7 [c)] 3.Tgl! Dh8 4.Tfg6 [d)] Sx b6 5.K xh6 [€)] Dd8+ 6.Kab Kc7 [f)] 7.Tcl+ Kb8 8.Th6+
KaB 9.Tal! Dg5 10.Tab! Dd2 11.Kb5+ Dxab+ 12.K x &5

In post-key play, thematic rook sacrifice comes after black queen’s attack on wRf6; in the try 2.Th6?, after black queen’s
attack on wRh6.

a) 1.—-Df72.Tgl Sxb6 3.g8=D



b) 2.Th6? Dxg7 3.Tgl Df8!

C) 2— DaB+ 3.Kb5 Dd5+ 4.Kb4 Sx b6 5.Tx b6 Kc7 6.Tg6 Dg8 (6.— Db7+ 7.Kcd) 7.Tar+ Kb8 8.Txd7 Kc8 9.Ta7 Kb
10.Te7

d) 4.Tgf1? Sxb6 5.K x b6 Dd8+ 6.Ka6 De7 7.Tcl+ Kd8!
€) 5.Tg8+?Dx g8 6.Tx g8+ Kc7
f) 6.—De7 7.Tcl+ Kd8 8.Tg8+

D/11

1.Ld3! [a)] Txd3[b)] 2.5f4+ Kd6 [c)] 3.Sx d3 Tal+ 4.Kb6 Thl+ 5.Kab T xb7[d)] 6.5b4! [e)] Txb8][f)] 7.Lf4+[g)] €5[h)]
8.L xeb+! Kxeb 9.Sx c6+! Sx cb stalemate

6.—Txb4d7.Lxe7+ Kxer 8.Sxcb6+ Sx cb stalemate

a) 1.Sf4+?Kd6 2.Ld3 Tal+ 3.Kb6 Ta3+; 2.5d3 cxb53.Sx el Txel F; 2.5x 6 Sx 6 3.Kb6 Th1 4.5d3 Tx b5 5.K x b5 Thl+
6.Kab €5 7.Sxe5 Kxeb F; 1.5xc6? Kcb 2.Sa5 Tal 3.Ld2 Te6+ 4.Ka7 Sxb7 F; 1.Le2? Txe2 2.5f4+ Kcb 3.5x e2
Tal#

b) 1— Tal+ 2.Kb6 Ta3 3.5d7 Th3+ 4.Kc7 Sxb7 5.5f4+ =; 1.— Kd6 2.5f2 (2.5f4? Tal+ 3.Kb6 Ta3 ) Tal+ 3.Kb6 Tebl+
4L xbl Txbl+5.Kab Thd (5.— Tx b7 6.5e4+ Kc7 7.Le7 =) 6.5d3 Tx b7 7.5b4! =

C) 2—Kc4 3.5xd3 Kxd3 4.5d7 Tal+ 5.Kb6 Thl+ 6.Kc7 Sx b7 7.L xe7 Sab 8.L.c5 Th7+ 9.Kd6 Th5 10.Lb6 =
d) 5—Sxb76.Lxe7+ Kx€e7 7.Sx c6+ Kd7 8.5ch4 =

€) 6.Le3?Th3 7.Lf4+ Kd5 F

f) 6.—¢57.54c6 Sx 6 8.Kxb7 Sxh89.Kxh8 c4 10.Lcl €5 11.L b2 e4 12.Kb7 Kc513.L.c3 =

0) 7.Lxer+Kc7 F

h) 7.—Kc5 8.5d3+ Kd4 9.L x b8 Kx d3 10.Kb6 Kc4 11.Kc7 €5 12.K xd8 Kd5 13.Ke7 ¢5 14.Kf6 e4 15.Kf5 Kd4 16.Lg3 =;
10— Kd4 11.L.c7 Se6 12.L.g3 ¢5 13.Lh4 Sf4 14.Lf2+ Kd5 15.L xc5 =

D/12
1.5c3 h2 2.Se4 h1=D 3.Sg5 Dd5 4.5d8! [5.Sdf7#] Dx d8 [a)] 5.5f7+ K x h7 6.5x d8 b4 7.57! [b)] b3 8.5g5+ K x h6 9.Se4
+(9-b210.5c3...)

a) 4—Dxg55.5(7+ K xh7 6.Sx g5+ K xh6 7.Se4 +

b) 7.Sxc6 or 7.5e6? b3 and the white knight istoo late to prevent the promotion

Draw 7+6  Win, Blacktomove 10+5  Draw 4+4

D/13
1.c8=D [a)] Le3+ 2.Kb8 [b)] Th6+ 3.Db7 Tx b7+ 4.K xb7 Lf3+ 5.Ld5 Ta2! 6.Lh6! [c)] Lxd5+ [d)] 7.Txd5 L x h6 8.Th!
Le3! 9.Th1+ [€)] Kc2 10.Th2+ Kb3 11.T x a2 K x a2 12.Kc6 Kb3 13.Kd5 Kc3 14.Ke4 Kd2 15.Kf3 =

a) 1.Txg5?Txc4 2.Le5 Tad+ 3.Kb8 The+ F
b) 2.Tc5? Txcd F; 2.KaB? Lf3+ F
C) 6.Txa2Lxds5++



d) 6-Txab7.Lxe3+Kc28Lxf3Ta39.Led+ =
€) 9.Txh7?Tar+ F

Black and White theme.

D/14
1.h7 [a)] Lb2 2.L x g5 [threatens 3.ax b3 ] Led! 3.Lcl! [b)] Lh8! 4.La3+ Kb5 5.Lb2! bxa2 [c)] 6.Ld3+ Lxd3 7.Lxh8
Lxh7[8~Lf5 ] 8.g4=

a) laxh3?gxh42.h7Lb23.gxh4 Kxd6
b) 3Lxe4?bxa2 F; 3.Le3+? K xd6 4.Lf4+ Keb F
C) 5—Lxbh26.a4+! +

D/15
1-Dx@52.5f5! Dxf5[a)] 3.Th5! [b)] Df4[c)] 4.Led! b25.g7 Dxed [d)] 6.5f6+ Kc7 7.Sx e4 b1=D 8.Th5 cx b59.g8=D +
3—Dxg64.Led! [€)] Dxg4[f)] 5.Lf5 Dxf56.Txf5b2 7.Tf7+ &

a) 2—Dxg4 3.Th7+ Kd8 4.Th7 D x g6 5.Th8+ Kc7 6.Tc8+ Kd7 7.L x c6+ K x 8 8.9e7+ +
b) 3.Th7+?Kd8 4.Th8+ Kc7 =

) 3—Dxh54.56; 3—Dxg4 Lh3

d) 5-b1=D 6.98=D Dbxe4 7.Th7+

e) 4.Lh3?Kc7 5.Th8 b2 6.576 d5! =

f) 4—Dxe4/Dxh55.56+

D/16
1.Sc4! Seb[a)] 2.5x €5 [b)] Lxd63.La5Zz. [c)] Le8 4.Lb6 Zz. [d)] Lb55.Ld8 Zz. La4 [e)] 6.La5 Lc2 7.Sc6 Lf5 8.Ld8 [f)]
Le4 9.Lc7 L xc7 stalemate

a) 1—Lb42.Kb8Lb5 3.Kc7 =

b) 2.Sxa3?Sd7 F

c) 3.Ld8?Lb5 Zz 4.Lb6 (4.La5 K x a5 F) L1 F
d) 4.Lc3?Lb55.Ld4 Lf1F

) 5-Lf16.5c6 Lg2 7.Lc7

f) 8.Lb4?Lg39.La5 Lc8 F

D/17
1.Dd4! [a)] Sb6+ 2.Dx b6+ [b)] ax b6 [c)] 3.Se6! [d)] L x €5 [e)] 4.Ld6! Lx d6[f)] 5.5¢7+! L x c7 6.5d7! a4 [g)] 7.Sc5+ K a5
8.Sb7+ Kab 9.505+ =

a) 1.Sd7?L xd2 2.508+ Kb6 3.Se6 Dd3 4.L.d6 Dx d6; 1.5e6? Sh6+ 2.Kb8 L x e5+; 1.c5? L x d2F; 1.Dd6? L x e5F



b) 2.Kb8? L xe5+F
C) 2.—K xb6 3.566 c5/ad 4.507+ Kc6/K a6 5.5b8+/Sc7+ Kb6/K a5 6.L x co#/L ba#
d) 3.Ld6?Dxc3; 3.5d7? L x €5 4.L.d6 L xd6 5.566 Lba!

€) 3.—b54.Sd7 a4 5.5c7+ Kab 6.Lba#; 3— a4 4.5c7+ Kab 5.Lb4#

f) 4~ b5 5.5c7+ Kb6 6.c5#

g) 5.5d7?Lb4!F

h) 6.—b57.5c5+ Kb6 8.5d7+ =

D/18

Main line A: 1.Sa7+! (1.Se7+?) Kd8 2.Th6 Dx h3 (see main line B) 3.T xh3 Th4! (see main line C) 4.T xh4 h1=D! [a)]
5Txhl1 Th2! 6.Txh2 Lh7! 7.Txh7 e4 (Black won the first battle by right timed thematic sacrifices, white rook cannot
transfer to the g-file) 8.Th3! Sxab! [b)] 9.Tg3! [c), d)] Lg7! [e)] 10.Sb5! [f)] KeB! 11.Sc7+! Kf8 12.Txb3! (12.5x a67=)
Sxc5 13.Th8#

MainlineB: 2—Th4 3.T xh4 Dh7! (thefirst genuinethematic sacrifice) 4.T x b4 (2#). Not 4.T xh7?e4! Logicaly Black aims
for a sacrifice at h7 because then he can simultaneously defend both the square h8 and against the white rook transferring to
the g-file. This objective isreached only much later, and White has then new resources.

Main line C: 3.— h1=D 4.Txhl Th2 5.Txh2 Th4 6.Txh4 e4 7.Tg4! (2#): Making the thematical sacrifices in a different
order, Black managed to close the fourth rank to b4 for the white rook. However the move e4 aso closed the dearly opened
Lb1-h7line.

a) A genuinethematic sacrifice because bSh4 wasredlly threatened. Now 5.T x b4?is prevented by 5.— d4+!, because 1.Sa7+
blocked the otherwise winning move 6.Ka7!. In this sense 1.Se7+ would have been better, but of course it fails to
2.—Dab+.

b) 8—Le5 (preventing 9.Tg3, thealternative8—Lg7 issimilar) 9.Txb3 Sx a6 10.Tb6 Ld4! (10.—Sc7+ 11.Kb7! +) 11.Tx a6
L x ¢5 (the same position asin variation d), but White has the move) 12.Kb7 (now the threat is 13.Sc6+!) Bx d6! ? (this
radical way isthe only onefor Black) 13.T x d6 + Notethat the greedy whiterook captured DTDTLSSL, and wantsto
get the pawns as dessert! The general result of thisunusua ending of T+S versus 5 pawns isaWhite win if the pavns
can be stopped. In this particular position, Black can play his pawns so that they are not lost nor blocked by rook and
knight aone. The fluid pawn mass means that thisis arace where an active whiteking istheimportant factor. Here the
white king has a good position, White wins. The critical line, generated by human aided computer analysis: 13.— Ke7
14.5b5 e3 (14.— f5 15.Kc¢7 +) 15.Tab f5 16.Kb6 f4 (16.—d6 17.Kc6 f4 18.5d4 €5 19.K xd5! +) 17.Kc5 f3 18.Tal f2
19.5c3! Kf6 20.Kd4 +

¢) 9.Txb3?Ld4! 10.Tg3 (d) Sc7+ 11.dxc7+ (or 11.Kb7 Se8 12.Tg8 L x 5 13.9b5 L x d6! 14.Sx d6 Ke7 = The black pawns
actually are here stronger than the misplaced white pieces); 11.— K xc7 12.Sh5+ K¢6 13.Sx d4+ K x ¢5 = Here the black
king dominates, and the white king is far avay. So no wonder that aso according to deep computer analysis Black
has a clear draw. The critical line: 14.Sb3+ Kb4 15.Kb7 f5 16.Kc7 f4 17.Th3 f3 18.5d2 Kc3 19.5f1!? (19.Sx f3 ex 3
20.Tx 3+ Kc2 =) Kd4 20.Sh2 Ke3 21.Kd6 d4 22.Ke5 d6+! (Here Black needs al his pawns for the draw) 23.K xd6
d3 24.Ke5 d2 25.5g4+ Ke2 26.Th2+ f2! 27.5xf2 €3! =

d) (9.Txb3?Ld4!) and now a) 10.Th6 L xc5 11.T x a6 (same positionasin b) after 11.— L x c5, but here Black hasthe move,
acrucia tempo!) 11— e3 12.9b5 (no time for 12.Kb7? L xd6!) f5 13.Kb7 Ke8=; or b) 10.c6 dxc6 11.Sxc6+ Kd7
12.Sxd4 Kxd6 =

e) InthemainlineWhitemade an, in between move' threatening back rank mate. By moving hisrook whiterenewsthethrest
on Sh3, the thematical requirement of proxinessis fulfilled. The move 9.— Lg7! is an ,opticaly’ thematic sacrifice,
because whilethis,threat’ on Sb3isapotentia legal move, in reality inthe end it will prove to be a mistakeif done.
The aternative move 9.— Sc7+ islessgood: 10.dx c7+ Kxc7 11.Tx b3 (thethreat is12.Tb8!) Ld4! 12.Th7+ Kd8 13.c6
dxc6 14.Sx c6+ KeB 15.Sxd4 +

f) Neither 10.Tx g7? nor 10.T x b3?[g)]. Now thethreat is11.Txg7.

0) 10.Txg7? Sc7+ 11.Kb8 (11.dxc7+ Kxc7 12.Rxf7 Sx c5=) Se8 12.Tg8 Sd4! =, e.g. 13.Kb7 €3 14.¢6 dx c6 15.5x c6+
Kd7 16.Sxd4 Sx d6+ =; or 10.Txb3?, e g. 10.— e3! and Black is better.

D/19
1LaALb52Tf1TF33.Txf3Lh64.Tg3Le35.Txg2Lxh6 6.Lxb5h1=D 7.Tg8+ Kxc7 8.Te8 Dh4 9.Th8 La7 10.T x b7+
Kd8 11.K x a7 Df2+ 12 Kab Da2+ 13.Kb6 Df2+ 14.Kab Sx ¢3 15.Th8+ Kc7 16.Th7+ =



D/20

1.f7! A pawn sacrifice to win timefor h-pawn advance. [a)] 1.—L xf7 2.h6! [b)] Tb1! 3.Se5+! [c)] Kxf5! [d)] 4.h7! But now
h-pawn advance is the right move, it will be protected by a series of trick moves. [€)] 4— Ld5+! 5.Txd5 Tal+ 6.Kb8! [g)]
Thl7.5f7+! (7.5d7+?) Ke6! 8.Td1! (themein solution) [h)] 8.— Tx dU/K xf7/Txh7 9.h8=D/T x h1/Sg5+ + Now the reason
not to play the natural 6.Kb7?isclear.

a) If a once 1.h6? then Black can take the unprotected Sd7: 1.— L xd7 2.h7 (2.Tc5 €3! =) Lc6+ 3.Kar Th7+

b) White does not afford to fork the bishop because White's remaining pawn is not any stronger than Black’s e-pawn:
2.565+? K xh5! =, e.g. 3.5x 7 €3 4.65 (4.5d6 Kg5!=) Th6! 5.T xe3 Tf6 =

¢) 3.h7? Again right timing for h-pawn advance is required: 3.— Thl 4.Se5+ Kg3! 5.5xf7 Txh7 =, e.g. 6.5d6 €3 7.f6 €2
8.Teb Kf2 9.Se4+ Kf3 10.5g5+ Kf4 11.f7 Th8+ 12.TeB el=D=; 3.5f6+? Kf3! (3.— Kf4 4.Sh5+!) 4.h7 Th1 5.Ta7 Lc4
6.Tc7 Ld3 7.Tc8 e38.h8=D Txh89.Txh8 Lxf5=

d) 3-Kg34.Sxf7 Th15f6 +

€) 4.Sxf7+?Kg6! 5.Th5! (themein try) Tal+! 6.Kb8! Thi+ 7.Kc8 Tcl+ 8.Kd8 (8.Kd7 Tf1! =) Tal 9.h7 [f)] Ta8+ 10.Kc7
K x h5 11.5d8 Ta7+ 12.5b7 Ta8 =

f) 9.Ke8 Tad+ =, e. g. 10.5d8 Kh7 (complicated is 10.— Ta7!?) 11.Ke7 €3 12.5f7 €2 13.Th1 Ta7+ 14.Ke6 Tab+ 15.Kf5 Tab+
16.Ked Tad+ 17.Ke3 Tab 18.K xe2 Tf5 19.Tf1 Txf1 20.K xf1 Kg6 =

g) 6.Ta5? Tx a5+ 7.Kb7 Txe5 8.h8=D €3! =; 6.Kb7?
h) 8.Td8? Txh7! 9.5g5+ Ke7 =

Win 5+5

D/21
1.Tel [a)] Kf2! [b)] 2.5xh2 [d)] T xh5[)] 3.Te5! [f)] Th4[g)] 4.TbS! [h)] cx b5 5.b7 Txh2 6.b8=D + (EGTB confirmed)

a) 1.Txh6?h1=D

b) 1.—h1=D 2.Se3+ (als0 2.Dg3+) Kh2 3.Sg4+ Kg2 4.Txh1K x h15.Sx h6 +; 1.— Td6 2.Tcl h1=D [c)] 3.Sg3+ Kg2 4.Sx hl
c5 5.Tc2+ K x h1 6.07 Td8 (6.— Th6+ 7.Th2) 7.Tx 5 Th8 8.Th5 +; 1.— c5 2.5x h2+ K x h2 3.Te2+! Kgl 4.b7 Thé+
5Th2 +

C) 2—Td7,Td8 3.Sxh2+ Kxh2 4.Txc6 Th7,Th8 5.Kb2 Kg3 6.Kb3 Kf4 7.Kb4 Ke5 8.Khb5 +

d) 2.b7?h1=D 3.b8=D K x el

e) AttackswSh2; 2.— Kxel 3.b7 (or exchange of moves: 3.5f3+ Kf2 4.b7! Txh5 5.5d4) Txh5 4.5f3+ Kf25.5d4 +
f) 3.b7?Th5+ 4.Kc2 Kxel = 3.Ter? Th5+ 4.Kc2 Tx b6 =

g) Black refuses to capture both pieces; 3.— Tx €5 4.5g4+ Kg2 5.5x €5; 3.— Txh2 4.b7 &+

h) Semi-thematic. Black, on the previous move, played his rook to h4, directly attacking wSh2 (although he could have
captured it immediately instead), and White puts a second piece en-prise. 4.b7? Th4+ 5.Kc2 Txb7; 4.Kc2? Th4d =

D/22
1.Lh2+ K g2 [a)] 2.Te8! Dxe8 [b)] 3.Lb8! Del 4.a8=D Dc3+ 5.Kb1 Del+ 6.Ka2 Deb+ 7.c4! [c)] bxc3 e p.+ [d)] 8.Ka3 c2
9.Lf4+



a) 1-Kxh22.Th8+Kg33.a8=D De5+ 4.Kbl Del+ 5.Ka2 De6+ 6.c4 bxc3 e. p.+ 7.Ka3; 1.—Kh1 2.Th8 Dc3+ 3.Kb1 Del+
4.Ka2 Kg2 5.a8=D De6+ 6.Kb2 Df6+ 7.Kbl Df1+ 8.Ka2 Df 7+ 9.c4 bx c3+ 10.Ka3 +

b) 2—Dc3+ 3.Kbl b3 4.Te2+ Kf35.a8=D
c) 7.Kb2 Df6+ 8. Kbl Dfl+ 9.Ka2 Df 7+ 10.¢4, loss of time
d) 7.—De2+8.Kb3 Dxd3+9.Kxb4 +

D/23
1.52+ Kh4 2.Lg3+ K x g3 3.Sx h1+ Kh4 4.88=D [a)] c1=D+ 5.K x c1 Df 1+ 6.Kb2 Dg2+ 7.5f2! Dx f2+ 8.Ka3! +
7—Dx a8 8.5f5#

a) Try: 4.5f5+? Dx 5 5.a8=D c1=D+ 6.K xc1 Dc8+ 7.D x c8 sta emate

D/24
1.LeB8 [a)] Kb8! [b)] 2.5d3 [c)] Ld7! [d)] 3.Se5! Lc8! [e)] 4.5f3 Td5! [f)] 5.La4! [g)] Td6+ [h)] 6.Kc5 b6+ [i)] 7.Kc4 b5+
[D] 8.Ke3! & [K)], e.g. bxa4 9.7 Td8 10.Th8

a) 1.a4?Kbh82.Le8,Lg8Lxcl

b) 1.—Lxcl2Tc7[2.Kc7] Kb83.Txcle54.Tc7

c) 2Lad,Lc6?Lxcl

d) 2—Ld6 3.f4[3.5cH]

6) 3—Lxe84.Th8

f) 4—Tg25.Kc5[5.05!]; 4— Tf5 5.Lc6! bxc6 6.5d4

0) 5.Lc6?bxc66.Tf7[6.97 Lc7+ 7.Kc6 Lb7#; 6.K xc6 Td3! 7.97 Tc3+ 8.Kb6 Lc7#] Th5+ 7.K xc6 Lb7+ 8.Kd7 L xf39.Tf4
Lh5; 5.84? Ld6

h) 5—€56.g7 Td6+ 7.Kc5 Tg6 8.5h4! [8.Le8!]

i) 6.—b5 7.Lb3 Td8 8.5d04 Lb7 9.Se6; 6.— Td8 7.g7

j) 7-€58.47 Leb+ 9.Kc3 Td8 10.Th8 Lg8 11.Lc2

k) 8.Lxb5?ax b5+ 9.K x b5 Lab+ 10.Kc5 Td5+; 10.Kad Ld3 11.The+ Kb7 12.g7 Tc6; 8.Kb3? Td3+
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Draw, Black to move 5+6

D/25

1-b2! [a)] 2.L xf6+! [b)] L x 6 3.Th5+ [c)] Lg5! [d)] 4.Tx g5+ [€)] Kf6! [f)] 5.Tf5+! [g)] K x5 6.Se3+ [h)] Kf4[i)] 7.Led!
[j)] K x e4 [K)] 8.SF1 with three main variants:

8.— Se6 9.5d2+ Ke3 10.Sb1 Sd4! [1)] 11.K x b4 Kd3 12.5a3! [m)] Sc2+ 13.Kb3= [n)]

8.— S7,506 9.502+ Ke3 10.Sb1 Se5+ 11.K x b4 [0)] Kd3 12.Kb3 = [p)] (e.g. Sc4 13.5a3,S¢3 =)

8- Kf3[q)] 9.5d2+ Ke2 10.Kb3! [r)] K xd2 11.K x b2 Kd3,5d7,5e6 12.Kb3=

a) 1.—Lxh62Kxb3=; 1.— Sg6?2.Th3 (2.Tx g6?b2 3.L x b4 b1=D 4.T x g5+ f x g5 5.5¢1 g4 F) b2 3.Th3+

b) 2.Th5? b1=D 3.Lxf8 b3 4.La3 Dc2+ 5.Kb4 Dd2+ 6.Kad b2 F; 2.Th8? b1=D 3.Lxf8 (3.Txf8 Dxhl F) b3 4.Sel b2
5.8d3+ Dxd3+ 6.Kxd3 b1=D+ F; 2.L xf8?Lxh6 3.L xh6 b1l=D F



) 3.5e3?b1=D 4.Sg4+ Kf4 5.Txf6+ (5.5xf6 Kg56.598 b3 T) Kxg4 6. Txf8 Dxhl T

d) 3—Ke44.Sel+ Ke3 5.5d3 b1=D 6.Th3+! Kd2,Ke2 7.Th2+ Ke3 8.Th3+ =

€) 4.5h4,5e1,Se3?b1=D F

f) 4—Ked?5.5el+ Kf4 6.Tgl b1=D 7.5g2+ +; 4— Kd6?5.Td5+ Ke7 6.Td1 +; 4— Ke6? 5.5f4+ Kf6 6.Tgl +
0) 5.5e3?b1=D F, not 5—Kxgb?6.Led =

h) 6.Sh4+? Kf4! =, but not 6.— Ke5? 7.5f3+ Ke4,Kf4 8.5d2(+) =; not 6.— Kg4,Kg5? 7.Led =

i) 6.—Ke57.Led =

j) 7.5d5+?Ke5! F, but not 7.— Kf5?8.Sxf6 K x f6,b1=D 9.Le4d(+) =

k) 7-Kxe38Lf5Kd29.Kxb4=

[) 10—Ke2 11.Kb3 12.K xbh2 =, but not 11.K xb4? Kd1 12.Kb3 Kcl F

m) 12.5c3?Kc2 13.Kc4 Sf5 14.Kb4 Sd6 F; 12.Ka3? Ke2! 13.Ka2 Sb5 14.5d2 Sc3+ 15.Ka3 Shl+ F
n) 13.Sxc2?bl=D+ F

0) 11.Kbh3?Sd3

p) 12.Ka3?Kc2 F; 12.Sa3? Kd2 13.Kb3 Kcl F; 12.5c3? Ke2 F

g) 8—b1=D 9.5d2+ =; 8-b1=S9.Kx b4 =; 8—-b39.Kc3 =

r) 10.Sb1?Kdl 11.K xb4 Kcl 12.Sa3 Se6 13.Kb3 Sd4+ 14.Kc3 Sh5+ F

D/26
1.Lg4! [a)] cx d6+ [b)] 2.Kb6! [c)] Seb! [d)] 3.L x €6 [€)] Te2! [)] 4.Sed! [g)] T xe4 [h)] 5.5d5! Kb8[i] 6.5¢7 3 [j)] 7.Sa6+
[k)] Ka8 8.Ld7 [I)] Te7 [m)] 9.L x c6+ [n)] Th7+ 10.L x b7#

a) 1.dxc7?Seb+ 2.Kx 6 Sxc7 3.Kxc7 Txf2=; 1.d7? Se6+ 2.K xc6 Txf2 3.Lg4 Sd8+ 4.K xc7 Tf8 5.596 Tg8 6.Lf3+,Lf5
Kar=; 1.Lf3? cxd6+ 2.Kb6 d5=; 1.Se4? cx d6+ 2.Kh6,K x ¢6,Sxd6 Tx a3 =

b) 1—Se6+ 2.Lxe6 cxd6+ 3.Kb6 £, seemain line; 1.— Txf2 2.dxc7 Tf8 3.Kb6 c3 4.Lf3 +; 1.— Kb7 2.d7 Td2 3.Se4 Td3
4.Sx 6 c3 5.Kxb5 c2 6.5c5+ +

C) 2Kxc6,Kxd6?Txf2=

d) 2—Txf23.Lc8 c34.Lb7+ Kb85.Sx co#; 2.— Tx a3 3.5xc6 c3 4.L.c8 c2 5.Lb7#; 2—c3 3.L.c8 c2 4.Sx 6 c1=D 5.Lb7#
€) 3.5xc6?Sch 4. Kxh5(4.5d1 Txa3 =) Txf2=; 3.5e4? Sd8 4.Sxd6 (4.Sx c6 Sx 6 =) Txa3 =

f) 3—Txf24.Lc8 c35.Lhb7+ Kb8 6.Sx c6#; 3.— Txa3 4.Sxc6 c3 5.L.c8 c2 6.Lb7#

0) 4.Kxc6?Txeb=,butnot4—Txf2?5.Kb6 c36.Ld5+ +; 4.Ld7?Txe7 =, but not 4.—Txf2?5.L xc6+ +; 4LcB? Txe7 =,
but not 4— Txf2?5.Lb7+ +£; 4.Sxc6? Tx €6 =, but not 4.— Txf2?5.Ld5 £+

h) 4—c35.Lc8c26.Sxc6 cl=D 7.Lb7#
i) 5—Txeb66.Sc7+ Kb8 7.Sxe6 c38.5f4 & or 7.— b4 8.axb4 c59.b5 +; 5.~ c3 6.5c7+ Kb8 7.Sa6+ +, see main line
j) 6—Txeb7.Sxeb =+, seei)

k) 7.Lf5? Tad =; not 7.— c2? 8.5a6+ Ka8 9.L xe4 c1=D 10.Lxc6+ =+; 7.Lb3? Tc4 8.Lxc4 c2 9.Le6 c1=D 10.Sa6+ Ka8
11.Sc7+=; 7.Ld7? Tad (not 7.— c2? 8.Sa6+ Ka8 9.L x c6#) 8.5a6+ T x &b+ F

[) 8.Sc7+?wastestime: 8.— Kb8 9.Sa6+ Ka8 10.Ld7 +; 8.L.c8? Te7 =; 8.Lf5? Ted =; 8.Lb3? Tc4 =
m) 8—c2 9.Lxc6#, 8—Tc4 9.L.c8 c2 10.Lb7#
n) 9.Sc7+? wastestime: 9.— Kb8 10.Sa6+ Ka8 11.L xcb+ +

D/27
1.Td1+! [a)] Ke2! [b)] 2.Td2+ [c)] Dxd2 3.L xd2 g2 4.5f1! g1=D+! [d)] 5.Le3! Dg2 [€)] 6.Shg3+! =

a) 1.Tc3+?Dxc3+ 2L xc3g2! 3.5xg4 gl=D+ +



b) 1.—Ke3?2.Sx g4+ Ke2 3.Lxg3! Kxdl4.Shf2+ =

C) 2.Lxg3?Dc2+! 3Kh4 Dxd14.5f2Dgl +

d) 4-gxfl=D?5.5g3+; 4.— gxh1=D?5.5g3+; 4.— K xf1?5.5g3+ Kf2 6.5f5 =; 4.— Kd3? (Kf3?) 5.Shg3! etc. — see ahead
€) 5—Dxfl6.5g3+ Kxe37.Sxfl+ Kf28.5d2! =; 5—- Dxh1?6.5g3+ K xe3 7.Sx h1 Kf3 8.Kd4(d5)! =

D/28
L.a7+ [a)] K xa7 [b)] 2.Txg7+ L{7! [0)] 3.Txf7+ [d)] Kab 4.Sc5+ [€)] K&b 5.Lx g5 Tab+! [f)] 6.5x a6 [g)] g1=D 7.Tf2!
[h)] Dxf2i)] 8.5c5! Dc2 [j)] 9.Ld2+ Dxd2 10.Sb3+ Kb4 11.Sx d2+

a) 1.506?Lb5+ 2.K x b5 Txab 3.K xab gl=D

b) 1.—Kc82.Th8+ Ld8 3.Sb6#; 1.— Txa7 2.The+ +

C) 2.—Kb8 3.Tb7+ Kc8 4.S06+ Kd8 5.L x g5+

d) 3.Lxg5? Tc8+ 4.Kd7 g1=D; 3.Txg5? Le8+

e) 4.Lxg5? Tc8+ 5.Kd7 gl=D

f) 5—Tc8+ 6.Kd6 g1=D 7.Ld2+ Kb5 8.Tb7+ Kc4 9.Th4#
g) 6.Kd5?g1=D 7.Ld8+ Th6 8.L xb6+ K x b6

h) 7.Tf3? Db6+

i) 7.—Dal 8.5c54; 7.— Dx g5 8.Ta2#; 7.— K x a6 8.Ta2#
i) 8—Kb49.5d3++

D/29

%;@@

Win 9+8  Win,Blacktomove 6+4  Win 5+5

D/29
1.Tg8! [a)] Tg4 2.Te7! Tef4 [c)] 3.T7! Td4 [d)] 4.Ta7! [€)] Td6+ 5K xd6 Tx g8 6.Tad+ K xb5 7.Tha+ Kab 8.Tad+ Kb7
9.Th4+ Kc8 10.Tca+ Kd8 11.La5+ [f)] Ke8 12.Ted+ Kf7 13.Tf4+ Kg6 14.Tg4+ Kh7 15.Th4+ Kg6 16.Tgd+ =

a) 1.Tg7? Tg4 2.Te8 Td4 3.Ta8 Td6+! 4.K xd6 Txg7 5.Tad+ K xb5 6.Th4+ Kab 7.Tad+ Kb7 8.Th4d+ Kc8! [b)] 9.Tca+
Kd8! 10.La5+ KeB F, e. g. 11.Ted+ Kf8 12.Tf4+ Kg8 F

b) 8—KaB 9.Tad+ Tar? 10.Tg4 Tal 11.Kc6! Txel 12.Tg8+ Ka7 13.Tg7+ Kab 14.Tg8 Kab 15.Kc5 =
) 2—gl=D 3.Txed+ Txed 4Txgl=

d) 3—gl1=D 4.Txf4+ Txf45Txgl=

e) 4.Tf5?Sd25.Tc5+ Kba

f) 11.Lh4+? KeB 12.Ted+ Kf7 13.Tf4+ Kg6 14.Tgd+ Kh7 ¥

Theme shown in try and in solution. At the end, a subtle reasoning for which rook to start with.

D/30
1.h7[a)] Tf7+ [b)] 2.Kb8[c)] Txh7 [d)] 3.c7 [e)] TxcT7! [)] 4.Txc7 [g)] cxb2! [h)] 5.Txc5+ [i)] Kf4 [j)] Now that black
King moved to attack wTg3, White plays the thematic move 6.Te5! [k)] b1=D [I)] 7.Tge3 Dh1 8.g3#



a) 1.bxc3?Tf7+ 2.Kb8 Ld6+ 3.c7 L x g3, or 2.Kd8 Tf8+ 3.Kd7 Tf7+ 4.Kd8 Tf8+ =; and not 4.Ke8? Keb F

b) 1— Ld6+ 2Kd7 +, e.g. 2— Le5 3.h8=D Tf7+ 4Ke8 Lxh8 5.bxc3 Th7 6.d4 b4 7.Th8 bxc3 8.Th7 c2 9.Tc3 Lxd4
10.Tx c2 Th8+ 11.Kd7 Th7+ 12.Kd6 Le5+ 13.Kd5

¢) 2.Kd8?Txh7 3.bxc3 Lb6+ 4.Ke8 Keb 5.Kf8 The+ 6.Kg7 Txc8 F
d) 2—Ld6+3.c7 Txh7 seef) (3—Ld6)
€) 3.bxc3?Ld6+ 4.7 Lxg3 5.Kb7 Tf7 6.Kc6 Tf6+ 7.Kb7 Tf7

f) Black sacrifices hisrook. 3.—Ld6 4.Te3 cx b2 5.Tel Te7 6.Th1 Te2 7.K xa7 Tc2 8.Txb2 Txc7+9.Txc7 Lxc7 10.K x &b
=+, 0r 3—Tf74bxc3 Lf25.Txg4 Kxg4 6.Tg8+ +

g) 4.04? Txc8+ 5K xc8 cxb2 6.Th3 L xd4

h) Black sacrifices another piece — with check! 4.—Ld65.Te3 cx b2 6.Tel a5 7.Tb1 +, or 4—Kf4 5.d4 Kx g3 6.T x c5 cx b2
7.Tc3+ Kxg28.Th3 +

i) 5.d4?b1=D 6.Tx c5+ Kf4; 5.Tf7+? Kgb! 6.Tf1 Ld4 7.Kb7 Kh4 8.Tx g4+ Kx g4 9.Kxab Kg3 10.K xb5 Kx g2 11.Td1
Kf212.Kc4 Ke2 13.Th1 Lf6 14.d4 Kd2, but not 5.— Ke6? 6.Tf1 Ld6+ 7.K xa7 L x g3 8.K xab Lf49.Th1l Lcl 10.K xb5
Kd511.84 Kd4 12.85 K xd3 13.a6 Kc2 14.Tx b2+ K x b2 15.a7 +

j) After 5—Kf6 Whitewinsby 6.d4! b1=D 7.Ta3 De4 8.T x a6 Kf7 9.Tc7+ Ke8 10.Tax a7 with a mating attack.
k) 6.d4?bl=D

[) If Black captures one of therooks, the other rook is able to stop the b-pawn: 6.— Kx g3 7.Tel, or 6.— Kx €5 7.d4+ K xd4
8.Th3 +

D/31
1— K x a7 2.d8=D Tb8+ 3.Kd7 Se5+ 4.Ke8 Tx d8+ 5.K x d8 Sf7+ 6.Kc7 +

1—Tcl+ 2.Kb8 Thl+ 3.Ka8 Th7 4.S05 [a)] K x b5 5.d8=D! [b)] Tx g7 6.Df8 [¢)] Td7 [d)] 7.Df5+ [€)] Se5 [f)] 8.Dx €5+
Ka6 9.De7! Sc4 10.Kb8! [g)] Sb6 11.d4! +

a) 4.d8=D? Txar+ 5.Kh8 Sc6+ 6.Kc8 Ta3+ 7.Kc7 Txd8; 4.5c8? Scb! =
b) 5.08=D?Txd7 6.DeB Kc6 =

c) 6.Df6?Tg8+ 7.Ka7 Scb+ =

d) 6.—Tgl 7.d7 Sc6 8.Kb7! Tal 9.Db8! Sx b8 10.d8=D +

€) 7.Dxf3Txd6=

f) 7—Kc6 8.Dxab +

g) 10.dxc4 Td8+ 11.Dxd8= stalemate; 10.d4 Tx e7 11.dxe7 Sd6 =

D/32
1.Ld5+ Kgl [a)] 2.Le7! Tg4 [b)] 3.Lc5+ Ld44.Tg7! Lgé! [c)] 5.Lf3! [d)] Kh2! [e)] 6.Ld6+ [f)] Kgl 7.Tc7! Tg5 [g)] 8.Ke2
Lb2 9.Td7! Lc2 [h)] 10.Lf4 Tg8 11.Le3+ [i)] Kh2 12.Td2 Tc8 [j)] 13.Lf4+ Kgl 14.Td5 +, e.g. 14— Tg8 15.Th5

a) 1-Led2.Th7! Txh7 3.Lxed+ +

b) 2—Th33.Lc5+ Kh2 4.Tf2+ +; 2—Td4 3.Lc5 +

C) 4—Txg75Lxd4+ +

d) 5.Txg6?Txg66.Lxd4+ Kfll =

€) 5—Kfl6.LxgdLxg7 7.Lh3#

f) 6.Lxg4Lxg7=

g) 7—-Th48.Ke2 Lb29.Tc5 +

h) 9-Lh510.Lg3 L xf3+ 11.Kxf3 Tf5+ 12.Lf4 13.Td1#; 10.— Tx g3 11.Td1+ Kh2 12.Thi#
i) 11.Td2? Te8+ 12.Le3+ Txe3+! 13.Kxe3Lcl =



j) 12—-Lxb313.Txb2 Leb6 14.Lf4+ Kh3 15.Ke3 Kh4 16.Th2+ Lh317.Lc6 +

Echoed thematic situations. Three model mates. No unit captured in the main line,
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Win 4+6 11+7

D/33
1.d7[a)] el=S+! [b)] 2.L xel Lc2+ 3.Ke2! [c)] Ld1+ 4.Kf2 Sga+5.Kg3! [d)] Lg5 6.Ld2! Se5! [€)] 7.Sx €5 [g)] Lf6! 8.Lg5!
(again theme at the same squares!) [h)] L x g5 9.5f7+ Kg7 10.Sx g5 +

a) lLdxc7?Lc2+2Kxe2Lf5=

b) 1.—Lc2+ 2.K xe2 Ld1+ 3.Kel Sg2+ 4.K xdl Lg5 5.Ke2! Sh4 (5— Kg8 6.Kf3 Sha+ 7.Kgd +) 6.Lf4! Lf6 7.Le5 +
) 3.Kd4?Sf5+4.Kc3 Lg55.K xc2 Kg8 6.Lb4 Kf7 =; 3.Kc3? Sd5+ 4.K xc2 Lg5 =

d) 5Kf1?Lg56.Ld2Lh4! =

€) 6.—Sh6!?7.Lxg5 Sf7 8.5e5! (theme at the same squares €5 and gb5) [f)] Lad 9.Sxf7+ +

f) 8.Lf6+?Kh7 9.5e5 Lad! =

) 7.Lc3?Lad!l 8.Lxe5+ Kh7 =

h) 8.Lc3?Kg89.Sc6 Lg5 10.Lb4 Kf7 =

D/34
1.Txg7+! (Lasker: desperado sacrifice) [a)] Sx g7 [b)] 2.f6! Tg3! 3.f7! [d)] Td3! 4.f8=D Tx d4+! 5.K x d4 Seb+ 6.Kd5 Sxf8
7.Kxd6 Kb6! =, e.g. 8.f5Kxb59.b3 Sh7 10.d4 Kb6 11.Kd7 Kb5 12.Kd6 = [e)]; dynamical positiond draw

a) L.T~?Txb2F; 1.Te2? Sc7+ 2.Kxd6 Tx b2 3.Te7 Tc2! F; 1.Tgd??hxgd F

b) 1—Khb6!?2.Ter! Sf6+[c)] 3.Ked! Sed! 4.Kd5 Sf6+ repetition of moves, positional draw
C) 2—SCc7+?3.Txc7! Kxc7 4.6 +

d) 3.fxg7?Txg7 F; 3.hxg3? Se8! 4.f7 Sf6+ 5.K xd6 Sh7 6.Ke7 h2 F

€) 12.Ke6? Sg5+ 13.Ke7 Kcb! 14.f6 Kds! F

D/35
Black threatens D x h4, D xd7 and K x d7.
1.5e3! [2.h7,Sf5+] Dxe3 [a)] 2.h7 Dh6[c)] 3.Se5! [4.d8=D+] dxe5[d)] 4.d8=D+! Kxd85.h8=D+ Dxh8 6.L xf6+ Dxf6 =

a) 1—Dxd7 2.5f5+ Kd8 3.L x f6+ K7 4.5f4 De8 5.5x d6; 1.— K xd7 2.5f5 Dg4 [b)] 3.h7 Dh5 4.L x f6 Dxh7 5.5x d6 Dg8
6.5e5+

b) 2—Dg23.h7Dxc24.Lxf6 Dxd3+ 5.Ld4! (5.5d4? Dh3!) cxd4 6.h8=D
C) 2—Dh33.d8=D+ Kxd8 4.h8=D+ Kd7 5.5e5+ dx €5 6.Dxf6 [7.D x h4+]
d) 3—Dxh44.d8=D+ Kxd8 5.h8=D+ Dx h8 6.Sxf7+; 3.— Dd2+ 4.Sd3 Dx c2 5.L x f6+

D/36

1.Lf3! [a)] Lxf3 2.00+! Kc2! 3.Txall gxh2+ 4K xh2 Kxd2 [c)] 5.Ta4! Ke2 6.a7! d2 7.a8=D d1=D 8.Dab+! [g)] Ke3
9.Dh6+ Kd310.Ta3+ Kc2 11.Ta2+ Kd3 12.Kg3! [h)] Lh5 [i)] 13.Ta3+ Kc2 14.De3! Dg4+ 15.Kf2! [m)] Dhd+ 16.Kgl Dgd+
17.Kf1 Dd1+ 18.Kf2! Dd2+ 19.Dx d2+ K x d2 20.Ta5! +



a) La7?Lxed 2131 Lxf33.00+ Kc2! [b)] 4Txal gxh2+ 5K xh2=
b) 3—Ka2?4.Txf3Ld4+ 5.Kf1Lxa7 6.Txgal +

C) 4-Lxed5Ta2+ Kb3[d)] 6.Tab d6 7.a7 La [€)] 8.Kg3! Kc2 9.Ta2+ Kb3 [f)] 10.Tab Kc2 11.Txd6 K xd2 12.Td8 Lc6
13.Tc8 Lb7 14.Th8 +

d) 5—Kd16.Kg3Ke2 7.Th2La8 8.Th8 Lc6 9.Tc8 +

€) 7—Kc28.Ta2+ Kb39.a8=D Lxa8 10.Txa8 e4 11.Tc8 & or 10.—Kc2 11.Kg2 Kxd2 12.Kf2 d5 13.Ta2+ Kc3 14.Tab +
f) 9—~Kd110Kf2 +

g) 8.Ta2+ Ke3 =

h) 12.Ta3+ Kc2 =

i) 12— K xe4 13.Dg6+ [j)] Kd4 [K)] 14.Db6+ Ked 15.Db4+ Kf5 16.Df8+ Ke4 [I)] 17.Da8+ d5! 18.Tal! + or 18.Tad+ Kf5
19.Df8+ Kg5 20.Dg7+ Kf5 21.Dh7+ Kg5 22.Dh4+ Kf5 23.Dh3+ Kg5 24.Ta8! Dh1 25.Tg8+ Kf6 26.Tf8+! &

j) 13.Dh4+ Kf5 14.Dh7+ Ke6 15.Dh6+ Kf5 16.Df8+ Ked 17.Da8+ d5 18.Tal!+
k) 13— Kd5 14.Ta5+
) 16—Keb 17.Dxf3 &

m) 15.Kh2 De2+! =

D/38

Draw 7+5 Win 5+5

D/37
1.5b3! [a)] Dh1+ [b)] 2.Ke2 K x ¢4 [c)] 3.Lb7! e4 [d)] 4.L x e4 Dgl [e)] 5.5d2+ Kb4 6.5f1! =

a) 1.Lb7?Df8; 1.Lxe6?K x5
b) 1—Lxg32.Ld7+ Kb6 3.Tc6+

¢) 2—Lxg33.5d2 Dh2 4.Ld7+ Kb6 5.Se4 Dh5+ 6.Kel Lha 7.Tc6+ Kab 8.Tc5+ Kb4 9.Th5+ Kc4 10.Lc6=
d) 3—Dgl 4.5d2+ Kc3 5.5f1=

6) 4-Dxed 5.502+ Kd5 6.5x e4 K x e4 7.3+ Kf5 8.Kf2

D/38

1.Lh6? Th1+!

1.Lb2! Txb2 2.d8=D+ K x d8 3.0-00+ Ke7 4K x b2
1-Td5 2.L xg7 K xd7,Txd7 3.Td1(+)

D/39

1.5e2! Kc2! 2.5d4+! Kb2 [a)] 3.La3+! K x a3 4.5c2+ Kb2 5.5c6! K xc2 [b)] 6.Sb4+ Kd2! [c)] 7.Sx a2 Sf7! 8.Kf5! [d)] ed!
9.5b4! (switchback) [e)] €3 10.Sc6! (switchback) [f)] €2 [g)] 11.Sd4 e1=D 12.Sf3+! +

White and Black switchbacks.

a) 2—Kc3 3.Lbd+ K xb4 4.5c2+ Kc3 5.5al Kb2 6.507 +
b) 5—bxc66.Sal! Kxal 7.b7 +
¢) 6-Kb27.52 +



d) 8.Sb4? Sg5+ 9.K x €5 Sh7 =

€) 9.K xed? Sg5+ 10.Kd5 Sxh7 =; 9.Kf4? 3 10.Sc1 Sh8! (switchback) 11.Sb3+ K3 12.5c1 Kd2! =

f) 10.Kf6? Sh8! (switchback) 11.5c6 Kd3! =

g) 10—Kc311.Se5! Sh8 12.5f3 e2 13.Ked Kod 14.Ke3 K5 15.K x €2 +; 11— e2 12.5xf7! el=D 13.h8=D+ +

D/40

1.Sc4! [a)] b1D! [b)] 2.Txbl[c)] Th6+ (2.— Dg8+ 3.Ke5! +) 3.Kd5 Dg8+ 4.Kc5! [d)] Txc6+! [€)] 5.Kxc6 and now two
main variations: 5.— Dg6+ (A) and 5.— De6+ (B)

(A) First variation: 5.— Dg6+ 6.Df6! [f)] Dxf6+ (6.— Dx bl 7.Df8+) 7.5d6+ Kd8 8.Th8+ Ke7 9.Te8#

(B) Second variation: 5— De6+ 6.Kc5! [g)] Df5+ [h)] 7.Se5! [i)] Dx €5+ [j)] 8.Kc4d De2+ 9.Kb4! [k)] Dd2+ 10.Ka3! [I)]
Dd3+ (10— De3+ 11.Th3 £) 11.Th3 +

a) 1.Kd5?Tg7! 2.Df6 (2.Dh3+ Tg4) Dd8+ 3.Dx d8+ K x d8 4.5b3 (4.Sc4 K7 5.Th1 Tg5+ 6.Se5 Tg2 7.5f3 hd =) Kc7 5.504
Tg5+ 6.Kc4 Kb6 =; 1.Dh3? Dd4 2.Df5 Dg4 3.Tb1 Th6+ 4.Ke5+ Dxf5+ 5K x5 h4 =; 1.907? Dg8+! 2.Kd6 Dg6+
3.Kc5 De2+ =

b) 1—Tg7 2.506+ &; 1.— The+ 2.Kd5! +; 1.— Dg8+ 2.Kd6! b1=D (2.— The+ 3.Kc5! ) 3.Dh3+! (3.Txb1? Dg6+! =) Kd8
4.Txbl The+ 5.Ke5! (5.Kc5? Tx c6+ 6.K xC6 D x c4+ =) DeB+ 6.Kd4 +

€) 2.5d6+? Kc7 3.Tx bl Thé+ 4.Kf7 Dh7+ =
d) 4.Kd4? Dg7+! 5.Kc5 Txc6+ 6.Kxc6 Db7+! 7.Kc5 (7.T x b7 stalemate) D x b1 8.Sh6+ (8.Sd6+ Kd7) Kb7 =
€) 4.—Df8+5.Kb5! Df5+ 6.Kab! Tx c6+ 7.Sh6+ Tx b6+ 8.Tx b6 +

f) 6.Kc5? Dxbl! 7.5d6+ Kd7! =; 6.Kd5? Df5+! 7.Se5 (7.Kc6 Dg6+) Dxbl 8.Dh3+ Kb7 =; 6.5d6+? Dxd6+ 7.K xd6
stalemate

g) 6.Kb5?Dc6+ 7.Ka5 (7.K x c6 stalemate) DaB+! 8.Kb4 Db7+ 9.Kc5 Dx bl 10.Sb6+ (10.Sd6+ Kd7 =) Kb7 =
h) 6.—Dc6+?7.Kd4! + (7.K x c6? stalemate)

i) 7.Kd4?Dxbl=; 7.Kd6? Dxbl =; 7.Kc6? Deb+

j) 7—Dxb18.Dh3+ (or 8.Dcd) Kb7 9.Dg2+ Kc8 10.Dg8+ Kb7 11.Dd5+ Ka7 12.Sc6+ Kab 13.Sb4+ +

k) 9.Kd4? Dd2+! =; 9.Kc3? De3+ 10.Kc4 De2+; 9.Kb3? Dd3+! 10.Kb2 Db5+ =; 9.Kd5? Dd3+! =

[) 10.Ka4? Da2+! =; 10.Kb3? Dd3+! =

5+10  Win 6+5  Win 8+7  Win,Blacktomove 5+5

D/41

Try: 1.Da8+? Kh7! 2.De4+ Kg7! 3.Txh3 Lh5! 4.T xh5 Del 5.gx f6+ Kg8 6.Tg5+ Kh8 7.Dx el Sx el 8.K xf7 Th2 9.a6 Sf3
10.Tc5! (White threatens the unprotected black c3-pawn) d5! (Black plays another pawn enprise. This pseudo theme (with
pawns) is required to refute thetry.) 11.Tx c3 [a)] Se5+! (11— Th7+7?) 12.Ke6 Te2! 13.a7 [b)] Sc4+! [c)] 14K xd5[d)] Ta2
15.Txc4 Txar 16.Ke6 Kh7!= (Again thismove.)

Solution: 1.K xf7! Lh5+ 2.g6 Lx g6+ 3.K xg6 Shd+! [e)] 4.Kf7 Txa5! 5.Td5! Txd5 [f)] 6.Db8+ [g)] Kh7 7.Dg3! Dgl
(Black islost anyhow and triesathematical move.) 8.Dxh4+! + [h)]

a) 11.Tc8+ Kh7 12.a7 Sg5+ 13.Ke7 Te2+ =, e. g. 14.Kd7 Ta2 15.88=D Tx a8 16.Tx a8 d4 17.Tc8 d3 18.Txc3 Se4 19.f7 d2
20.Th3+ (20.Td3 Sc5+ =) Kg6 21.f8=D d1=D+ =



b) 13K xd5 Kg8! 14.Tc8+ Kf7 15.a7 Ta2 16.a8=D Tx a8 17.Tx a8 K x 6 =
C) 13— Sc6+? 14.Kf7! Se5+ 15.Ke7 Sco+ 16.Kf8 &
d) 14.Kf7 Sd6+ =

€) 3.—Sf4+ 4.Kf7! Dbl (or 4.—Df15.Da8,Db8+ Kh7 6.Dg8+! — 6.Ded+ Kh8 7.De8+ only delays— Kh6 7.Td5 f5 8.Dg7+
Kh5 9.T x f5+ Kh4 10.Dg5#; note that without BPh3 the study has no solution.) 5.Da8+ Kh7 6.Dg8+ Kh6 7.Dh8+ Kg5
8.Tg3+ Kf59.Dh7+ Ke5 10.Dx bl +

f) 5—Dbl 6.Th5+!
g) 6.Dxal?
h) If now 8.Dxgl?Sg2?9.Db1+! + Or 8.— Kh6?79.Dg4! + But 8—Tg5! =

D/42
1.b6! [a)] Lc5 2.b7 La7 3.Lh8! [b)] Se3 4.Kgl! Sd55.Ld4! Lxd4 6.Khl! [c)] La7 7.Sd5 +
Corner moves.

a) 1bxab?Lc5! 2.L~ Se3!
b) 3.Lf6?Se3! 4.Kgl Sgd! (4.— Sd5?5.L.d4!) 5.Ld4 L xd4 6.Khl Sf2! 7.Kg2 La7
) 6.Kg2,Kf1?Se3!; 6.Kh2? Le5!

D/43
1.905 LcB! 2.Te8+ [a)] Lxe8 3.Le6 Df6! [b)] 4.Ld5+ Lc 5.Lxc6 [c)] Dxc6 6.5e6! [d)] Db+ [€)] 7.K x 3! Kb8 8.a7+
Kb7 9.Sec7 Df6+! 10.Ke2! [f)] De7+ 11.Kd1! [g)] Dd8+ 12.Kcl h4 [h)] 13.a8=D Dx a8 14.Sx a8 h3 15.5d6+ +

a) 2.5d5!? Lxbb5! 3.Le6 Dar+ 4.Se3 Dx &b 5.Ld5+ Ka7 6.L xf3Dd6 7.Tgl g6 8.Tg3 h4
b) 3.—De7 4.Ld5+ Kb8 5.a7+ Dx a7 6.Sxar Kxa7 7.Kxf3 Kb6 8.L xe4 g5 9.5e6 +
c) 5.Kf1?Kb8 6.a7+ Kc8 7.L xc6 Dx c6 8.5e6 Dd5 9.Kf2 Dd2+ 10.K xf3 Dd1+ 11.Ked4 Dxc2

d) 6.Sd5!? Dc5! 7.Kf1 g5! 8.5dc7+ Kb8 9.a7+ Dxar! 10.Sxa7 Kxc7 11.Sh5+ Kd7 12.5d4 g4 13.5f5 Kc6 14.Se3 Kd6
15Kf2 Ke6 16.Kg3 Ke5 17.Sx ¢4 Ked 18.5d2+ Ke3 19.5f1+ Ke2 20.5h2 Ke3 21.¢4 Kd4 =

) 6.—Kb8 7.a7+ Kc8 8.5ec7 Dc5+ 9.Kf1 Dx a7 10.Sx a7 K x €7 11.S05+ Kd7 12.5d4 Kd6 13.Sx 3 &
f) 10.Ke4? Dg6+ 11.Kd4 Dgl+ 12.K x c4 Df 1+ 13.Kb4 Db+ 14.Kc5 Dgl+ 15.Kc4 Df1 =

g) 11.Kf1Df6 12.Kel Dhd+ =

h) 12— Dg5+ 13.Kb2! Dd8 14.a8=D D x a8 15.Sx a8 h4 16.5d6! &

D/44
1— g6+ [a)] 2.KT6! [b)] €2 3.5g7+ [c)] Kh6 4.5F5+ [d)] gxf55.Tc8! Le5+! 6.K x5 Txc5+! [6)] 7.K6! [f)] Tcb+ 8.Tx c6
el=D 9.Tcl!

a) 1.—e2?2.Sxgr#

b) 2.Ke4 e2 3.Tb1 g5! isnot enough towin: 4.Sx g5 el=D+ 5.Txel L xel 6.5ge6 Ld2 7.Tc8 Kg6 8.Ke5 Lh6 9.Tg8+ Kf7
) 3.Tc8 Tf3+4.Ke7 Lha+! 5.Kd7 g5! 6.Th8+ Kg6 7.Ted el=D 8.Txel L x el 9.Tg8+ Kh7 10.Tx g5 Lc3

d) 4.Ted4 el=D 5.Txel L xel 6.5ge6 Tcl 7.Tab Lc3+ 8.Kf7 Tal

€) 6.—€el=D+ 7.Kf6

f) 7.Txc5el=D+ 8.Kxf5Dxh4



Draw T+7

D/45
1.5f6+! [a)] Sxf62.Ld3 Sed! [b)] 3.5g5+! Kxh6 4.Tx a8 Ld5 [c)] 5.Th8+ Kg7 6.Th7+! [d)] Kg8[e)] 7.Txh3! [)] a2 [g)]
8.Lxe4 Lxed+ 9.Sxed al=D 10.Sxc5 =

a) 1.Ld3?7Lxf72.5f6+ Kxh6 3.5g4+ Kg7 4.Tx a8 Sxf25.5xf2 L xf26.Le2 (6.Lf1 h27.Lg2 &2 F) a2! F
b) 2—Lxf73.Kxf6+Kxh64.Txa8LeB5.Txe8=

c) 4—Sd6+5.Kg4Ld56.Th8+ Kg7 7.Th7+ Kg88.Lbl a2 9.Lxa2 Lxa2 10.Txh3 =

d) 6.Txh3?Sxg5! 7.Tg3 (7.Kxg5a2 8. Thl Lxhl =) Le7 8.Lbl Le6+ 9.Ke5 Kf7 F

€) 6—Kf87.Lxeda28.Lxd5al=D 9.Tf7+ Ke8 10.Lc6+ Kd8 11.Se6+ =

f) 7.Td7?h2 8.Txd5 Sd6+ 9.Kg6 h1=D 10.Tx c5 Db7! F

g) 7—Sxg58Kxg5! a29.Thl Lxhl110.LcA+ =

D/46
1.Te8+ K6 2.5c3 Lc5+ 3.Kg8 Tx €5 4.Se4+ [a)] Kg6 5.Tx €5 LA+ 6.Kh8 Ld4 7.5f6 Lc3 [b)] 8.Teb [c)] L x €6 stalemate

a) 4.Txeb?Lca+5.Td5 Kgb 6.Kh8 Le7 7.5e2 Lf6+ 8.Kg8 L xd5+ F
b) 7.—Lxe5 stalemate
C) 8.5g4?Lb2Zz. 9.5f6 Kxf6 F; 8.5d7?Lb2 9.5f8+ Kf7 10.Sd7 (10.Sg6 Ld3 F) Ld3 Zz. 11.SF6 Kxf6 F

D/47
1.Ld1+ [a)] Kh4 2.Ta6 Lxd2 3.T xa2 [b)] Ta3! (black thematic move) 4.Txd2 [c)] Td3 5.5g5! (white thematic move) [d)]
Txd26.5f3+ 7.5xd2 +

a) 1.LeB+?Kg42.Ld7+Kg33.Tab Txh7=; 1.Tab? Tf3+ 2.Kg8 (2.KeB al=D; 2.Ke7 Tf7+! 3.K xf7 al=D) Tg3+ 3.Kf8 Tf3+
4.Ter+ Tf7+! =

b) 3.Ted+? Lb4+! 4.Txb4 Kg35.Tad Txh7 =, 3.Kf7?Thl! =
C) 4.Th2?Ta8+ 5.Kf7 Tar+ 6.Kg8 Tg7+! 7.Kh8 L¢3 =; 4.Tc2? Tc3 5.Th2 Tc8+ 6.Kf7 Tc7+ =

d) 5.Txd3?stdemate; 5.Th2+ Kg3 6.Le2 Te3! 7.5f6 K x h2 8.Sgd+ Kg3 9.Sx €3 Kf2=, but not 6.— Td2?7.Sg5 K x h2 8.5 3+
9.5xd2 +

D/48
1.Ld6 Dh2+ 2K xh2 T xh6+ 3.Th5 Txh5+ 4.Kg2 Th2+ 5.Kfl Thl+ 6.Ke2 T8h2+ 7.Kd3 Td1+ 8.Kc3 Tcl+ 9.Kb4 Thl+
10.Kab Th5+ 11.ax b5 Ta2+ 12.La3 Tx a3+ 13.Kb4 +

Win 9+7 Win 5+7



D/49
1K xh1 [a)] Dxb4 [b)] 2.5d6! [2.Se4 =, not 2.5f6? Dha+ 3.Kgl Dxf6 which prevents 4.Sc3+ 5.Se4] Dha+ [d)] 3.Kgl
Dd4+ 4.Kh1! [€)] Dxd6 [f)] 5.5c3+ Kel 6.5e4 =

a) 1.Lxh1?Kel (2.Kg2 D xbd) Df2+ 3.Kh2 Dh4+ 4.Kgl Dd4+ 5.Kh2 Kf2 6.5c5 Dh4+ 7.Lh3 Dg3+ 8.Kh1 D x h3#
b) 1.—DxeB2.5c3+ Del 3.5e4 =; 1.— Dh6+ 2.Kgl Kel [c)] 3.5¢5 4.5e4 =; 1.— Kel/Ke2 2.5¢5 3.5e4 =

) 2—De3+ 3.Kh1/Kfl/Kh2 Del/De2(+) 4.Kh2 Dh4+ 5.Kgl D x b4 6.5d6!

d) 2—Dxa4 3.54 =; 2— D xd6 3.5c3+ Kel/Kd2 4.Se4 =

€) 4.Kh27?Dx d6+!; 4.Kf1?Dxd6 5.5c3+ Kcl/Kc2 6.5e4 Dd4! 7.Lf3 K2 8.Kg2 Db6 9.Kh2 Dh6+! (uniquewinning move)
10.Kg3 De3 11.5f2 Del 12.Lh1 Kd2 13.Kg2 Ke3 14.5h3 Ke4 15.Kh2+ (or 15.5g5+) Kf5 16.Lf3 Deb+ 17.Kg2 Dd6
(or 17.— Dc7/Db8) 18.Kf1 Dg3 19.Dgl Df4 20.Dg2 Kd2+ 21.Se2 Del 22.Kh3 Df2 23.Lh5 (or 23.Lg4+ and matein
10 moves) Kg5 24.593 and mate in 16 moves

f) 4—Dx a4 5.504 =

D/50
1.b6 Sel! [a)] 2.bx a7 [b)] Sxf3+ 3.Sxf3[c)] Tf8 4.Tg5+ Kc6 [d)] 5.5e5+ Kb7 [€)] 6.Tg7+ Kab 7.5c6 Ta8 8.Tg4 [f)] Kb5
[0)] 9.Tg8! Txg810.Sb8 +

a) 1.—Sc62.Sxc6 Txf33.b7 Se34.5b4+ +

b) 2.5xel?Txeb=

¢) 3.Kh1?Kxeb 4.a8=D g2+ 5.K x g2 Sh4+ 6.Kg3 Sx g6 = (Nalimov EGTB)
d) 4-Kd65.5d2 c3 6.Se4+ Kcb 7.5x €3 +

€) 5—Kb6 6.5d7+ K x a7 7.5xf8

f) 8.Kg2 Kh6

0) 8—Kb69.Txc4

D/51
1.Lc5 Ted! [a)] 2.h7! [b)] K xh7 3.Tg5! [c)] Khé! [d)] 4.Td5! (now!) Td6! 5.T xd6! L x c5+ 6.5e3! L x d6 7.5f5+ &

a) 1—-Tb5?2.b4 +

b) 2.Td5? Td6! 3.5c3 Txd54.L x a7 (4.Sxd5 L x c5+) Tg5+ =
¢) 3.Th5+Tf5?Kg6 4.Td5 Tdé!

d) 3-f3124.e3! +

D/52
1.Se3+! [a)] Kf4[b)] 2.Lc7! [c)] Kx€e3[e)] 3.a7 Txc7 (Black captured twowhite pieces) 4.a8=D Kf4[f)] 5.Dd5! + (5.—-Tg7
6.De6! h4 7.Dx6)

a) 1.Lc7??Txc7 2.5e3+ Kh4! x

b) 1—Kh4??2.Lel#

c) 2.5d5+? Kxf5! 3.Lc7 [d)] Tf8! 4.a7 TaB 5.Lb8 Tx ar! 6.L x a7 Keb =
d) 3.Sc7 Tf8! 4.a7 Ked! 5.a8=D Tx a8 6.Sx a8 f5 =

€) 2—Tf8?3 L xd6+ Kxe34.Lxc5+ K~ 5L xf8+

f) 4—Te7 5.Df3+ Kd2 6.Dd5+ Ke3 7.De6+! +



D/53
1.Te6 c2! [a)] 2.Tgx g6 [b)] Sh2+ [c)] 3.Kh3! [d)] Sxf5 4.Tg8+! [€)] Kxd7 5.Tc8! (theme in solution) Se3! [f)] 6.Tcco!
[9)] Sc4! 7.K xh2! [h)] c1=D 8.Ted6+! Ke7 9.Te6+ Kf7 10.Tf6+ Kg7 11.Tg6+ Kh7 12.Th6+ Kg7 13.Thg6+ =

a) 1—gxf5+?2.Kh3 Se4 3.Tg7 +
b) 2.fxg6?cl=D 3.97 Sh2+ 4Kh3 Df1+ 5K xh4 Dxf4+ 6.Kh3 Dx g5 F
€) 2—cl1=D 3.Tg8+ Kxd7 4.Tg7+ Kd85.Tg8+ =

d) 3K xh4? Sxf5+ F; 3.Kg5? SF3+ 4.Kgd (4.Kf6 Sh5+ 5.Kf7 el=D F) Sxf5! 5.Tab (5.K xf5 Sdd+ 6.Kf6 Sxe6 7.Tgl
Sxf4 F) c1=D 6.Tg8+ K xd7 7.Ta7+ D7 8.Tx c7+ K xc7 9.Te8 e1=D 10.Tx el Sxel F

€) 4.Te8+? Kxd7 5.Tc6!? (themein try; 5.Ta8 c1=D 6.Tar+ Dc7 7.Txc7+ Kxc7 8.Te6 Sf3! 9.Txe2 Sgl+ F) Se7! F;
4Tg1? Sf1F

f) 5—Kxe66.Txc2Sd4 (6.—el=D 7.Te2+ Dxe2 =) 7.Tx €2+ Sx e2 8.f5+! Kf6 9.K xh4=; 5.—Kxc8 6.Tx €2 c1=D 7.Tc2+
Dxc2=

g) 6.Tec6? Sd5!
h) 7.f5?c1=D 8.Ted6+ Sxd6 9.Tx c1 Sf3 10.Kg4 Se5+ 11.K xh4 Sxf5+ 12.Kg5 Sd3 13.Thl Se3 F

D/54
1.Kh3 Ld5! [a)] 2.5xd6! Sxd6 3.dxc5 [c)] SF5 [d)] 4.e4! Lxed 5.c6! Lxc6 [€)] 6.LF3 Lb5 7.Led! Lf1+ 8.Kgd Ld3! [g)]
9.Lg2 Kg7 10.Lh3! [h)] Kf6 11.Kf3=

a) 1—cxd42.Lc2 Se3[b)] 3.Ld3 L xd34.exd3g25.Kh2=; 1.—g2 2.Kh2 Ld5 3.Sxd6 Sxd6 4.dxc5 see 3.— g2

b) 2 Ld5 3.S85 Se3 4.Lb3 L x b3 5.5x b3 Sf5 6.5d2 Kg7 7.5f3 Kf6 8.Kgd=; 2— g2 3.Kh2 Sh4l?4.Led! Lxe25.Lxg2 d3
(5— S5 6.Le4 Lab 7.Kg2=) 6.Ld5+ Kg7 7.Sx d6=

) 3.Kxg3?Sf5+ 4.Kf4 Sxd4 5.Ke5 Lf7! 6.Kd6 c4 7.Kc5 S5 T

d) 3—g24.Kh2 Sf55.L.c2! Se3 6.Lad SF1+7.Kgl Sg38.Lb5 =

€) 5—9g26.c7! g1=D 7.c8=D+ Kh7 8.Dc7+ Kg6 (8.— Sg7 9.Lg4=) 9.Lh5+! K xh5 [f)] 10.Dh7+ Kg5 11.Dh6+ =

f) 9.-Kh6 10.Df4+ Kh7 11.Dc7+ Sg7 12.Lg4=; 9.— Kg5 10.Dd8+ Kf4 11.Dc7+ Ke3 12.Dc3+ Ld3 13.De5+ Kd2 14.Da5+ =
g) 8—5d69.Ld5+ =

h) 10.Kf3?Lb5F

D/55

1.Se3 f2+ [a)] 2.Kg3 f1=S+! [b)] 3.Sxf1 Td3+ 4.Kh4 [c)] Th3+! 5.Kxh3 Lg4+ 6.Kh4! [d)] d1=D 7.Td5! [e)] Dxf1 [f)]
8.Lxed+ Lf3[g)] 9.Td1! Dxd1 10.L xf3+ Dxf3 stalemate

Twofold consecutive theme rendition.

a) 1-Le2 2L xed4 Kh2 3.Lxf3 Tdd+ 4 Kf5 Lxf3 5.5f1+ Kg2 6.Sxd2 Txd2 7.Tab; 1.— Lc2 2.Tal+; 1.— Kh2 2.5xd1 f2
3.Tf5

b) 2—Kgl3.Tal f1=D 4.Sxf1 Td3+ 5.Kf4 Tf3+ 6.K xe4
C) 4.Kf4?Tf3+5Ke5 Txfl6.Lxed+ Kh2 7.Td5 Tf2



d) 6.Kg3?d1=D 7.L x e4+ Kgl 8.Se3 Del+ 9.K x g4 Dx &5

e) 7.Lxe4+?Kgl 8.Td5 Del+ 9.593 Le2! 10.Kh3 Lf1+ 11.Kg4 Lg2

f) 7—Dxd58.Lxed+ Dxed 9.5g3+

g) 8—Kh29.K xg4 Dh3+ 10.Kf4 Dg3+ 11.Kf5 Dg5+ 12.Ke6 Dgd+ 13.Lf5 Dxh5 14.Td3

D/56
1.S65! [a)] Sd3 [b)] 2.Lb6! Ld2+ 3.Kf5 Tx b6 4.507+ K x7 5.5x b6 Lf4 6.5d7 Lc7 [)] 7.65 Sf4! [d)] 8.K xf4 KeS [€)]
9K xgd! [f)] Kxd7 10.K xh3 L x5 11.Kgd Keb 12.Kg5! L xf6+ 13.Kg6 Le5 14.h5 Kd7 15.KF5! +

a) 1.Lc5+? Kxf7 2.5e5+ Keb 3.f7 Ld8+ 4. Kxf4Le7 5.Lxe7 Kxe7 F

b) 1.—Se6+ 2.Kf5Txb7 3. Kxeb +

C) 6.—Sc57.65! +

d) 7.— Sc58.5xc5 h2 9.6+ +

e) 8—h29.Kf5h1=D 10.e6+ Kg8 11.f7+ Kh7 12.f8=D Df3+ 13.Kg5 D x {8 14.Sx 8+ Kg7 15.K x g4 +

f) 9.f7+?Kxf7 10.Kg3 a5 11.b8=D L xb8 12.Sx b8 a4 =; 9.5c57h2 10.Sx a6 Lb8! 11.Sxb8 h1=D 12.Sc6 Dcl+! =

i v

%7

D/57

1.g8=D! [a)] and now two main variations. 1.—Dx g8+ (A) and 1.— D xc4 (B)

(A) First variation: 1.— Dx g8 2.Lxg8 L x g8 3.Sx ed+ [b)] Ke3 4.5e2! [c)] Kx ed [d)] 5.a6 Ke5 6.5c3 Ld5 7.Sxd5 K xd5
8.ar £

(B) Second variation: 1.—Dx c4 2.Dxc4 L x c4 3.Sxed+ Ke3 4.5f3! [e)] Kx ed (4.—Ld55.5fd2!) 5.5d2+ Kd5 6.Sx c4 K x c4
7.86 +

a) 1.Sxed+?Ke3! 2.g8=D (2.L xb3 DeB8+ 3.Kf6 Dd8+ 4.Kg6 De8+ 5.Kh6 Dc6+ 6.Kg5 Db5+ 7.Kh4 D x b3 =) Dg4+! 3.5g5
(3.Kf6 Df4+ 4.Kg7 Dgd+ =; 3.Kh6 Dh4+ 4.Kg7 Dgd+ =) Lc2+! 4.Kf7 Df5+! 5Ke7 Dc5+ 6.Kd8 Dd6+! = perpetual
check; 1.Lxb3?Dg4+! =

b) 3.51e2?Lc4! =; 3.Kg7?Ld5! =; 3.a6? Kx g3! =

c) 4.5f3?Kxed! =; 4.5f6? Lch! =, 4.a67Lc4! (or 4.—Ld55.5c3 Leb! =) 5.a7 Ld3 =]

d) 4-Kxe25.86 (5.Kf6?Kd3! 6.Ke5 Kc4 7.a6 Ld5 8.5d6+ Kcb =) Kd3 (5.— Ld5 6.5c3+) 6.5f6! Leb 7.a7 +
€) 4.5d67e.g.4—Lab 5.Kf6 Kd4 6.5f3+ Kc5 7.Ke5 Kb4 =

D/58
1.Lb2+ K5 2.L x 6 K x b5 3.5c7+ [a)] K x @ 4.a7 Lb7 5.88=D+ L x a8 6.Sx a8 Th3 [¢)] 7.Le5 Te3 8.5h6! Kb5 [d)] 9.5d7!
[€)] Kc6 10.Lf4! [f)] Te4 11.565+! Kd5 12.5g6 +

a) 3.a7?Kab 4.9b6 [b)] Leb+ 5.Kg7 Kxar =

b) 4.Ld4 Txd4 5.5c7+ K x a7 6.Sh5+ Kab 7.Sx d4 Kxab =

€) 6.—Kb57.Sc7+ Kc6 8.Leb

d) 8—-Kxb69.Ld4+ Kc6 10.L x€3; 8—Txe5 9.5c4+ Kb4 10.Sx €5 +



€) 9.Lc7?Tc3=;9.Ld4?Th310.Lgl Txh2=
f) 10.Sb8+?Kd5 11.Lg3[g)] Tx g3+ 12.hxg3 Ked=
g) 11.Lc7 Tc312.Lf4 Ted 13.Lg3 Tga+ 14.KF7 Tx g3 15.hx g3 Ked

D/59

1.Lh6! [a)] Tc8+ 2.Kh7 [€)] Tc7+ 3.Lg7+ Tx g7+ [f)] 4K x g7 al=D 5.5f2 with two thematic lines:

5.~Dd4 6.5c5! Kd5+ 7.f6 =

5~ Dgl+ 6.5g4+ K x5 7.5c5 Dg3 [g)] 8.Sd3! Dx h3 [h)] 9.Sh6+ Kg5 [i)] 10.Sf7+ Kh4 [j)] 11.Sde5 De6,Df5 12.5g6+ =

a) Try: 1.5d8!? al=D! [b)] 2.5f7+ Kd5! [c)] 3.Lg2+ Kd4 4.593 [d)] Tc8+ 5.Kg7 Kd3+ 6.f6 Kxd2 F; 1.Sa5!? Tc8+ 2.Kg7
al=D F

b) 1.—Tc8!?2.Kg7 al=D 3.Sf7+ Kd5+ 4.f6 Dgl+ 5.595 Td8 6.Lf4 D xh1 7.f7 Dal+ 8.Kg6 =
) 2—Kd41?3.f6 Kd54.Kg7 Dxh1 5.5g5 Th4 6.f7 Dal+ 7.Kg6 Dh8 8.Lg2+ Kd6 9.Sed+ =
d) 4.Lh6 Tc8+ 5Kh7 Da2 6.Lg7+ Kc5 F

e 2.Kf71?2Tc7+ 3.Kg6 al=D 4.5f2 Dab+ 5.Kg5 Df6+ F

f) 3.—Kf4 4.5d8 al=D 5.Se6+ Kf36.Sxc7 Dxhl7.f6 =

0) 7.—Dxcb 8.5f2+ Kg5 9.Se4+ =; 8—Kf4 9.5d2+ =; 8- Keb 9.5d3+ =

h) 8—Dxd39.5f2+ =

i) 9—Ke4 10.Sf2+ =; 9.—Ke6 10.5f4+ =

j) 10—Kgd 11.5f2+ =

D/60

1.TaB+? Kb7 2.Th8+ K x b8 3.h8=D+ Kb7 ¥

1.h8=D Tx h2+ [a)] 2.Dxh2 gxh2 [b)] 3.Lc4! [c)] Dxc4 4.Ta2+ [d)] Kb5 5.Th2+! [€)] Kab 6.Ta2+ [f)] K x b6 7.Th2+ K c7
8.Tc2! Tdl+ 9.Txdl Dxc2 10.Td7+ Kc8 11.Td8+ K x d8 stalemate

a) 1.—Txd82Lcd Txh83Lxb5+=;1.—-Dxe22LcA+; 1.—Txe22.Ta8+ Kx b6 3.Th8+ Ka7 4.Ta8+ =
b) 2.—Dc6+ 3.Dg2 Dcl+ 4.Dgl =; 2— Txd8 3.Dx g3 Dh5+ 4.Kgl =

0) 3.Txd7?Dxe2! 4Tg7 Del+ 5.K xh2 De5+ 6.Tg3 Dh8+! F; 4.b7 Ka7 5.Tf7 (5.Ld5 Del+ 6.K x h2 Dhd+ 7.K~ Dgd+ )
Dx a2 F; 3.TaB+? Kb7 4.Ta7+ K xb6 5.Txd7 Dxe2 F

d) 4.Txd7?Dxe25.b7 Ka7
€) 5.Txd7?Dc6+! 6.Kxh2Dxd7 F
f) 6.Ta8+? Kb7 7.Tar+ Kc6 8.Txd7 Dcl+ 9.K xh2 Dx b2+ F; 6.Txd7? Dcl+ 7.Td1l Dx b2+ F

D/ 64

| // /

9+12  Win, Black tomove 14+8

D/61
1.Scb3 f32.Kgl[a)] f2+ [b)] 3.Kxf2Lf7 4.Lc6! [c)] Ld55.Lad! [d)] Lc6 6.5c2 Kxc2 7.5d4+ +
6.—L xad 7.5e3#! pure mate



a) 2.Lh5?Le2! (If 2—Ld53.Kh2! (3.Kgl?) Lxb3 4.Sxb3 Kel 5.L x f3 stalemate) 3.5d4 Kd2 4.Sab3+ K c3=
b) 2—Lf7 3.Lxf7?f2+ 4.Kg2 f1=D+ 5.D x f1 st emate; 2.— Kel 3.5c2+ Kd1 5.Sbd4! +

¢) Unigquewinning move: 4.Kb5?Lc4 5.Lad Lb5 6.5c2 K x c2 7.5d4+ K3 8.Sx b5+ Kb4 =

d) 5.Lb5?Lc4 6.Lad Lb5 7.5c2 K x c2 8.5d4+ K3 9.Sx b5+ Kh4 =

D/62
17! [a)] Lx €7 [b)] 2.S93+ [0)] Kf2 3.Se4+ Ke3! [d)] 4.5c3 Kd4 5.5e2+ Kc5! [€)] 6.5xd7+ Kcs! [f)] 7.Scl! [g)] Sxcl
8.Se5+ With 9.Sx g6 =

a) 1.Sg7?Lg3 with 2.— Sf2#

b) 1.—gxh52.e8=D,T Lg3 3.D,Tf8+ =]

C) 2.597?Ld6 +

d) 3—Kf34.5d2+ Ke2 (4— Ke3?5.5b3! Sf46.Sxd7 =) 5.Sdc4! db (5.— Sc57?6.5e5 d6 7.Sx g6 =) 6.5c8 d5 7.54b6 =
e) 5—Ke3?6.5c3

f) 6.—Kd6?7.9b6 =

g) 7.Sb8+?Kb7 8.5d4! (8.5d7?Kc7) Se5 +

D/63
1.Kg2! Td3! [a)] 2.5c7! [b)] Txd6 3.Se8 Td2+ 4.K xf3! [c)] ed+ 5K xed Tf2 6.Kd3 €5 7.e4 b5 8.Ke3 Tf1 9.Ke2! + (e.g.,
9.—f6 10.Lg6+ Kx g6 11.gxh8=D)

a) 1—e4 2.5c7 Tc2+ 3.Kf1 Seb 4.5e8 Tcl+ 5.Ke2 Tc2+ 6.Kel Tcl+ 7.Kd2 Tfl 8.Ke2 Tf3 9.Td4 Sg6 10.Txe4 Kxh6
11.L xg6/gxh8=D +

b) 2.Txd3?Sel+ 3.Kfl Sxd34.Sc7 Scb5 5.Se8 Sd7 6.Sc7 Scb: White repetition of moves
€) 4.KflSh2+ 5.Kel/Kgl Sf3+ 6.Kf1: Black repetition of moves

D/64
1-Txh2+ 2K xh2 Th6+ 3.5xh6 Dhl+ 4.K x hl al=D+ 5.Db1 Dx b1+ 6.Tcl Dxcl+ 7.Lel Dxel+ 8.Tf1 Dxf1+ 9.Kh2
De2 10.5f6 Dxe6 11.Shg4 Kc7 12.Se5 +

D/67
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7+10  Win,Blacktomove 11+6  Win

D/65
1.Ld4+ L g7 2.Tab Df8 [a)] 3.Dal c3 4.Tad Df3 [b)] 5.Dh1! Dxhl 6.L xg7+ K xg7 7.Tx g8+ K x g8 stalemate [¢)]

a) 2—Dxab 3.Lxg7+ K xg7 4.Db7+ Dxb7 stalemate
b) 4-Dxa85.Lxg7+Kxg76.Dxc3+ Kf8 7.Dg7+ K x g7 stalemate
c) 7.—Kf7 8.perpetua checks, but White must be careful to give the right checks so that

1. the queen does not intervene (except for capture on the diagona) and
2. theking does not seek shelter behind pawn a2 (the rook must be able to capture on a2)



D/66
1.Ld4+ Lg72.Da8Lxd4[a)] 3.Dxc8gxf54.Dd8fxgd+ 5.KxgdLg7 6.Da8 c2 7.Dx a3 hé and now Black can protect the
pawns but not promote a c-pawn.

a) 2—Dxa8 (2—Dd7?and Whitewins) 3.Lx g7+ Kx g7 4.Tf7+ Kh8 5.T x h7+ L x h7 stalemate

DI67
1—L x b6! [a)] 2.h8=D [b)] Dxh8 3.ax b6 DA8+! [c)] 4.Kh3 Dx b6 [d)] 5.c7! [€)] Dxc7 6.505 Db7! 7.5d5! reciproca theme
[f)] Dx b5 8.5c7+ K x a7 9.5x b5 +

a) 1— Lf2+ 2.Kh5 Deb+ 3.5f5 Df6 4.h8=D Dx h8 5.c7 Lcb 6.5d5 Kb7 7.Kh4 De8 8.Kh3 h5 9.Sde7 hx g4 10.Kg2 fx g3
11Kfl+

b) 2.g5 Lf2+ 3.Kh5 Dg7 4.gx h6 De5+ 5.Kg4 Deb 6.Kh5 De5=

¢) 3—Dal 4.g5Dh15.Kg4 Dgl+ 6.Kf5 Dxb6 7.Ke6 hx g5 8.Kd7 Dx b4 9.c7 &

d) 4—Dxd65.c7 De6 6.5d5 Dc6 7.Kh4 De8 8.c8=D D x¢8 9.S5c7+ Kb7 10.Da8 Dx a8 11.Sx a8 +
€) 5.Kg2 De3 6.c7 De2+ 7.Kgl Del+ 8.Kg2 De2+ =

f) 7.Sa6!? reciproca theme D xf3 8.Kh2 Df2+ 9.Kh1 Dh4+ 10.Kgl Dx g4+ 11.Kf1 Df3 =

D/68

1.e8=D [a)] el=D [b)] 2.Da8+! [c)] Kgl 3.Dg8+ Khl [d)] 4.Dd5+ Kgl 5.Dg5+ Khl 6.L x b5 Dd1+!?[e)] 7.Kh4! [f)] and
now (A) 7.— Df38.Dcl+ f1=D 9.Lc6 or (B) 7.—f1=D 8.Lc6+ Ddf3 9.Dcl or (C) 8.— Dff39.Dcl Dxc6 [g)] 10.Dxd1+ Kg2
11.De2+ Khl 12.Df 1#

a) 1.Lxf2?Kg2 2.e8=D h1=D+ 3.Lh4 e1=D 4.Dc6+ Kh2 5.Dd6+ Kg2 6.Dd5+ Kh2

b) 1—f1=D 2.De4+ Dg2 3.Lc2 b4 4.Kh4 b3 5.Ld3 b2 6.Lb1; 1.— Kg2 2.Ded+ Kgl (2.— Kg3 3.Dg4#; 2.— Kf1 3.Dh1#)
3.Dg4+ Kf1 4.Dh3+ Kel 5.Lb4#

¢) 2.Dc6+?Kgl 3.Dg6+ Khl 4.L x b5 De5+! So White has to choose another checking system.
d) 3—Kfl4.Lxb5+De2+5.L xe2+ Kxe2 6.Dc4+ Kd2 7.Df1

€) guarding f3; 6.—f1=D 7.Lc6+

f) 7.Kh6 f1=D 8.Lc6+ Ddf39.Dc1? Dx c6+

0) 9—Kg210.Dxd1 Dxc6 [h)] 11.De2+ Kh1 12.Df1#

h) 10—h1=D+ 11.Dxhl+ Kxhl 12.L xf3+

Win 6+6 Draw 5+4 Win 7+8 Win 11+5

D/69

1.Db7[a)] Te7 [b)] 2.Td8! [c)] and:

2—~Dxd8 3.Db2+ €5 4.Db6! Dx b6 5.f8=D+ Kh7 6.Dxe7+ +
2—~Txb73.Txf8+ Kg74.Th8! Txf75.g6! +

Doubled sacrifices of white queen and white rook.

a) 1.Dxc5?Df7! 2.6 Db7!; 1.Th4? Kg7!; 1.Db5? Th8!



b) 1.—Th82.Dc7! &
) 2.Td7?Kg7

D/70

1.Sa7! [a)] The+ [b)] 2.Kg5! [c)] Tg8+ 3.Kh4 Le7+ 4.Kh3 Th8+ 5.Kga! Tg8+ 6.Kh3 Tx g3+ 7.Kxg3 Lc5! 8.c7+ Kxc7
9.Sb5+ K6 [d)] 10.Sd5! K xb5[e)] 11.Sdc7+ K~ 12.Sxa8 =

Delayed , doublé’ thematic sacrifice: on the 10th move, when wSb5 has come under black king’sattack, the 2nd wSisplaced
under black king's attack, in view of black bishop being interfered with: 10.Sd5!

a) 1.ScA? Tf6+! 2.Kg7 Txc6 3.Sxa3 Kxc8

b) 1—Lc52.c7+ K~ 3.c8=D =

c) 2.Kg7?Lb2+! 3.Kf7 Th7+ or 3.Kg6 Tg8+ 4.K~ Txg3

d) 9—~Kb610.Sa3 L xa3 (10.— L x €3 11.ScA4+ K~ 12.Sxe3 =) 11.Sc4+ K~ 12.Sxa3 =
e) 10—Kxd511.Sbc7+ K~ 12.Sxa8 =

DI71
1.Lb6+! [a)] Kf4! [b)] 2.La5 L x b5 3.Sc6! Seb 4.5¢7 [¢)] Sd8! 5.5x b5 [d)] Sx c6 [f)] 6.5d4! Sb3! [g)] 7.Sxb3! [h)] Sx &5
[i)] 8.d8=D e1=D 9.Dx 6+ Ke3 [j)] 10.Df3#!

a) 1.Lxg3?L xb52.5c6 Se6; 1.La5?7 L x b5 2.5c6 Seb
b) 1.—Ked 2.5c5+ Kf4 3.La5 L x b5 4.506 +

€) 4.S5c5? Sd8 5.5xd8 L xd7 6.Ld2+ Kg4 7.Sxd7 Sd3 8.Sxf6+ Kf5 9.5h5 el=D 10.Lx el Sxel 11.Sx g3+ Kg4 12.Se2
Sxg2=

d) 5.5d5+ Kf5 6.5d4+ [€)] Ke5 7.Sx b5 K x d5 8.L xd8 e1=D 9.L x f6 Kc6 10.d8=D K x b5 =
) 6.5xd8 L xd7 7.Se3+ Ked 8.5c2 Sd3 9.5x 7 Sf4 10.Sel L6 11.Sd6+ Ke3 =

f) 5—el=D 6.L.xel Sxc6 7.Ld2+ Ke5 8.L xcl Keb 9.5d4+ K xd7 10.Sx c6 Kxc6 11.Kg7 Kd5 12.K xf7 f5 13.Kf6 Ke4
14 Kg5 Kd3 15K xf5 Ke2 16.Kg4 Kf2 17.Kh3 +

g) 6.—el=D 7.Lxel Sd8 8.Lab Sb7 9.Ld2+ Ked 10.Sb5 Sb3 11.Sd6+ +; 6.— Sx &b 7.Sx e2+ Sxe2 8.d8=D +
h) 7.Sxc6? Sxab 8.d8=D el=D 9.Dxf6+ Ke3 10.Df3+ Kd2! =

i) 7—Keb5 8.Lel Kd6 9.5d4 Kxd7 10.Sxc6 Kxc6 11.Kg7 f512.L xg3 f4 13.Lf2 Kd5 14.K xf7 Ke5 15.Kg6 Ke6 16.Kg5
Ke5 17.Kg4 Ked 18.Lel Ke3 19.Lh4 Ked 20.Lf2 +

i) 9—Ke4 10.De7+ +; 9.— Kg4 10.Dg5#

D/72
1.Te5+ Kf7 2.Te7+ Tx €7 [a)] 3.S06+ Kf6 4.65+ Tx €5 5.dx €5+ K x €5 [b)] 6.L f1 Dxf1[c)] 7.5c4+ Dx c4[d)] 8.bx c4 ax b6
9.Kg7 Sd7 10.h5 K x f5 11.h6 Sf6 12.85 bx a5 13.¢5 a4 14.¢6 a3 15.¢7 Se8+ [€)] 16.K8,Kg8 Sx c7 17.h7 a2 18.h8=D +

a) 2—Kf6 3.e5+ Kxf5 4.Lh3+ Kf4 5.Lxd7 Sxd7 6.Txd7 Dxc8+ 7.Td8 Dg4 8.Tf8+ followed by Ld8 (guards h4) and
Whiteiswinning. Finally he will direct apawn to the eighth row. The king has sufficient protection.

b) 5— Ke7 6.Le3 De2 7.Lg5+ Kd7 8.Le4 Dh5+ 9.Kg7 Dh7+ 10.K xf8 Dh8+ 11.Kf7 Dh7+ 12.Kf6 Dh8+ 13.Kg6 Dg8+
14.Kh5 Dh8+ 15.Kg4 Dx €5 16.Lf4 Dg7+ 17.Kh3 Dc3+ 18. Lg3 Dx b3 19.f6 4= Or 8.— Kc7 (evacuating aflight for
the knight) 9.Se8+! Kb8 10.Sf6 (dominating the knight) Df2 11.Kg7 Dc5 12.Kf7 +

¢) Black hasto capture the bishop: 6.— Dxb67? 7.Sc4+; 6.— Sg6+ 7.Kg7! Dxf1 8.Sc4+ isnot as good for Black as the text
move.

d) 7.—Kf48.Lc7+ followed by knight fork; 7.— Kf6 8.Ld8+ Kf7 9.Sd6#!
e) 15—-a2 16.c8=D+



Draw 7+5

D/73

1.Th4+! [a)] Lxh4 [b)] 2.g4+! [c)] Kh6 [d)] 3.Le3+ [e)] Lg5 [f)] 4.Lc6! [g)] Dxc6 [h)] 5.Lxg5+ [i)] Sxg5[j)] 6.e8=D!
[k)] Dxe8+ 7.g8=S+! [I)] with three main variants:

7—Dx g8+ 8.Kxg8Kg6 [m)] 9.Kf8 [n)] Kf6 [0)] 10.Ke8=[p)] draw according to Troitzky

8.— Sde4,Sc4 9.Kf8[q)] Sd6 [r)] 10.Ke7=[s)] draw according to Troitzky

7.—Kg6 stalemate

a) 1.g4+ Kh62.g8=D (2.98=S+ Kg6 F) Lf6+ F; 1.g8=D?Lf6+ 2.Kh7 Dxe7+ F; 1.Lc6? Dx e7 2.Th4d+ (2.g4+ Kh4 3.Lf2+
— 3.98=D Df6+ F — Kh3 4.Ta7 — 4.g8=D Df6+ 3 — Df6 F; 2.98=D Df6+ F; 2.— L x h4 3.g4+ — 3.g8=D Df6+ F
— Kxg44.08=D+Lg5F

b) 1-Kg6?2.g8=D+ +

c) 2.gxh4?Dxe7 3.g8=D Df6+ 4.Kh7 Dh6#; 2.g8=D? Lf6+ 3.Kh7 Dxe7+ F; 2.Lc6? Dxe7 3.g4+ — 3.98=D Df6+ F —
Kg6 4.98=D+ Kh6 F

d) 2—-Kxg4 3.g8=D+ Kf5 4.Dh7+ Ke5 5.Dh5+ Kd6 6.e8=S+ =, but not 6.e8=D? Dg7#); 2.— Kg5,Kg6? 3.9g8=D+ +

€) 3.Lc6?Dxar (3.—Dxc6?4.Le3+=seemainline) 4.98=D — 4.e8=SLf6 F; 4.g8=S+ Kg5 F, but not 4.— Kg6?5.e8=D+ =
— Dd4+ F; 3.g8=D? Lf6+ F; 3.g8=S+? Kg6 F

f) 3—Sg54.Lc6 (4.08=D?Dxe7 F) Dxc65.L xgh+ (5.08=D?Df6+ F) L x g56.98=S+ (6.98=D? Df6+ F) 6.Kg6 7.€8=D,L+
(7.e8=T? Dhl+ F; 7.e8=S? Dd7 F) D x €8 stalemate; 3.— Kg6? 4.g8=D+ +

0) 4.98=D?Dxe7 F; 4.Ld5?L xe3 F, but not 4— D x d5? 5.g8=S+ Kg6 6.e8=D#
h) 4—Lxe35.g8=S+ (5.08=D?Dd4+ F) Kgb 6.L xd7=; 4.—Dx €7 5.08=S+ =, but not 5.g8=D? Df6+ F

i) 5.08=D?Dc3+ F; 5.98=S+?Kg6 6.L x g5 Dh1+ 7.Lh6 Dal+ F; 5.e8=D? D x €8+ 6.98=S+ (6.98=D De7 F) Kg6 7.L x g5
Kf7F

i) 5— Kx@5? 6.g8=D+ Kh4 (6— Kf4 7.Df7+ Ke5 8.68=D ) 7.68=D Dc3+ 8.Kh7 Sed 9.Dh8 SAg5+ 10.Kg6+ D xh8
11.Dx h8+ K x g4 12.Dh5+ &

k) 6.98=D?Df6+ F; 6.98=S+?Kg6 7.e8=D+ Sf7+ F, but not 7.— D x e8? stalemate; 6.e8=T,S? Sf7+ 7.Kg8 D x e8#; 6.e8=L7
Df6 ¥

) 7.98=D7? Sf7#

m) 8.— Sdf3,Sb3 9.Kf8=, but not 9.Kh8? Sd4
n) 9.Kh8? Sde4 +

0) 9.— Sde4 10.Ke7,Ke8=, but not 10.Kg8? Sd6
p) 10.Kg8? Sded

g) 9.Kh8?Sch +

r) 9.—Kg6 10.Ke7,Ke8=, but not 10.Kg8? Sd6
s) 10.Kg8?Kg6 F



